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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The radius of curvature of a plano-convex lens can be measured by

1. Venturimeter

2. Travelling microscope
3. Vernier Callipers

4. Spherometer
Options :

85133015001. 1
85133015002. 2
85133015003. 3
85133015004. 4

Question Number : 1 Question Id : 8513303754 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
qHqA I oF @1 dsbd] Hodl @I fdedd g1 A1 o H@dl 6 7

2. 9 - gereal
3. 3T poiigd
4, TR
Options :
85133015001. 1
85133015002. 2
85133015003. 3
85133015004. 4

Question Number : 2 Question Id : 8513303755 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The unit of length, parsec is used for the measurement of

1. Wavelength of light

2. Size of atom

3. Astronomical distance
4. Height of a building
Options :

85133015005. 1
85133015006. 2
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85133015007. 3
85133015008. 4

Question Number : 2 Question Id : 8513303755 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS & AE®, URIS &1 Sugn Hafafad 3 O st au & o far i & 2

1, HOT=I B a3T1ee
2. GRHY] &l U5
3. G gl

4. Yo @ a1
Options :
85133015005. 1
85133015006. 2
85133015007. 3
85133015008. 4

Question Number : 3 Question Id : 8513303756 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The resistance R = V /I, where V = (200 + 5) V and I = (20 %+ 0.4) A. The percentage error in R

15

1. 54

2.45

3.46

4.0.5

Options :
85133015009. 1
85133015010. 2
85133015011. 3
85133015012. 4

Question Number : 3 Question Id : 8513303756 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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URRIY R = V /1, 9181 V = (200 + 5)V 3R | = (20 + 0.4) A &, B R T 3C & ufa=rdar sift

1.54

2. 4.5

3.46

4.0.5
Options :
85133015009. 1
85133015010. 2
85133015011. 3
85133015012. 4

Question Number : 4 Question Id : 8513303757 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dimensional formula for surface tension is

1. MLT™

. 5 A

3. ML°T

4 MLT™2
Options :
85133015013. 1
85133015014. 2

85133015015. 3
85133015016. 4

Question Number : 4 Question Id : 8513303757 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. MLT™
ZMLTr

3. MLOT 2

4. MLT 2
Options :
85133015013. 1

85133015014. 2
85133015015. 3
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85133015016. 4

Question Number : 5 Question Id : 8513303758 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A person goes upstairs from A to B, (see figure), with all steps of the same width and same
height. The magnitude of his displacement from Ato B is

0dm

<«

l?.1‘§n|||¢

1. 14 m
2. 1.0m
3.08m
4. 06 m

A

Options :

85133015017. 1
85133015018. 2
85133015019. 3
85133015020. 4

Question Number : 5 Question Id : 8513303758 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0.2m

4P

0.15m ¢

.14 m
2.1.0m
3.08m
4.06m
Options :
85133015017. 1
85133015018. 2
85133015019. 3
85133015020. 4

A

Question Number : 6 Question Id : 8513303759 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A satellite is moving along a circular orbit of radius 10% km about a planet. Its displacement
when it moves from point A to point B is (see figure)

B

ol

1. 2% 10* km
2. (%) x 10% km
3.v2 x 10* km
4. x 10* km

Options :
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85133015021. 1
85133015022. 2
85133015023. 3
85133015024. 4

Question Number : 6 Question Id : 8513303759 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Bz 3998 [dal U8 & URd: 10% km 3501 &1 3010 & & ST NI R W el g AT TP
TTfd @ TR S9H! AT BT (3T GRE)

1. 2% 10%km
(%) x 10%m

3.v2 x 10%km

[

4. w X 10*km
Options :
85133015021. 1
85133015022. 2
85133015023. 3
85133015024. 4

Question Number : 7 Question Id : 8513303760 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The velocity-time (v-t) graph for a body moving with constant +ve acceleration is given by,

4
., t
v A
2.
... t
v A
3 _/-/
*t
|u||' ‘
',,1'.
Options :

85133015025. 1
85133015026. 2
85133015027. 3
85133015028. 4

Question Number : 7 Question Id : 8513303760 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1O TS @0l 4 TiqaH 4l [9us &1 37-997 (v - 1) HEERed 3 9 &9 TR &1 gidl 82

4
., t
v A
2.
.,1:
v A
3. _/./
'_t
U‘
',,1'.
Options :

85133015025. 1
85133015026. 2
85133015027. 3
85133015028. 4

Question Number : 8 Question Id : 8513303761 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A projectile is thrown with a velocity of 5.0 ms™! at an angle 8 with the horizontal. Its range will
be maximum when 6 is,

1.13°

230"

3. 45°

4. 60°
Options :
85133015029. 1
85133015030. 2
85133015031. 3
85133015032. 4

Question Number : 8 Question Id : 8513303761 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

! Uaifis ®f 84 U 6 BV W 5.0 ms™ ! & 371 9 el 741 g | U0 WY Hfwad gHNl, 94 8
1.15°

2. 30°

3. 45°

4. 60°

Options :

85133015029. 1

85133015030. 2

85133015031. 3
85133015032. 4

Question Number : 9 Question Id : 8513303762 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A constant retarding force of 40 N is applied to a body of mass 10 kg moving with a velocity

of 20ms™'. The body will come to rest after travelling,

1.100 m
75 m
.50m
.25 m

- N
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Options :
85133015033. 1
85133015034. 2
85133015035. 3
85133015036. 4

Question Number : 9 Question Id : 8513303762 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
20ms™! @ 97 U TAHH 10Kg FOHH @ bl fUUS UR 40N &I s M99 ad o 1l 741 6 | o
o 3 9 qd g f4us faa- ol g & 7

1. 100m

2. 75m

3. 50m

4. 25m
Options :
85133015033. 1
85133015034. 2
85133015035. 3
85133015036. 4

Question Number : 10 Question Id : 8513303763 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A hole is drilled in a copper sheet. The diameter of the hole is 0.5 cm at 27 °C. The change in
diameter of the hole when heated to 227°C is (Coefficient of linear expansion of copper is
1.70 % 107% K}

1.6.8 X 1072 cm
2,68 %1073 cm
3.34x10% cm
417 %103 cm
Options :
85133015037.
85133015038.

1
2
85133015039. 3
85133015040. 4

Question Number : 10 Question Id : 8513303763 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Bl IR @1 2e J Pls &5 ST 81 27 C W 39 58 ST AW 0.5cm &1 Y e @l 227 ¢
do TH B R 85 & o H gHarel URda- § (@19 BT IRgd TR Ud = 1.70x 107 K7)

1. 6.8 X 10 %cm
2. 68 %1073 ¢m
3.34 %103 cm
A 395 107 Em
Options :
85133015037. 1
85133015038. 2

85133015039. 3
85133015040. 4

Question Number : 11 Question Id : 8513303764 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A bob of mass 1 kg of a simple pendulum is held in the horizontal position (see figure). The
speed of the bob at the lowest point, when released will be (g = 10 m 52)

<4—1m

f 1kg

1m

v

1. 2J1i0ms™

2.2y/5m 571
3. H/10ms’
4, 4/5ms’’
Options :
85133015041.
85133015042.
85133015043.
85133015044.

AW N =

Question Number : 11 Question Id : 8513303764 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

fardl TR Tiicis & 1kg ZoAHM & TMad @ aida edfd 3 @1 741 8 (R GRa0) Hod & W
gan fo R 9 TIdd & 91 8111 (g = 10ms ™2 )

4—1m

T 1kg

1m

v

1.2yioms!

[

.2¢5ms’!

410 ms’!

L

4. 4/5ms’?
Options :

85133015041.
85133015042.
85133015043.
85133015044.

AW N =

Question Number : 12 Question Id : 8513303765 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two identical particles, each having mass m, move towards each other with velocities 2v and v.
The velocity of the centre of mass will b

5]

1. v
2. 2v

3. w2

4, zero
Options :
85133015045. 1
85133015046. 2
85133015047. 3
85133015048. 4

Question Number : 12 Question Id : 8513303765 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

13/153
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&l O U o TP I ST m e [0 g @I 3R 2v AR v A T R R 6l 3
Hgfd o B I B ;

1. v

2. 2v

3.v /2

434
Options :
85133015045. 1
85133015046. 2
85133015047. 3
85133015048. 4

Question Number : 13 Question Id : 8513303766 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The radius of gyration for a solid sphere of radius R and mass M rotating about an axis passing

through its centre is

_.-u.h-
=

)
Wi BN b

=

L
el B2
=1

-

o
wal |
=;

-

Options :

85133015049. 1
85133015050. 2
85133015051. 3
85133015052. 4

Question Number : 13 Question Id : 8513303766 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

14/153
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Options :

85133015049. 1
85133015050. 2
85133015051. 3
85133015052. 4

Question Number : 14 Question Id : 8513303767 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A disc has angular acceleration 4 rad s and initial angular speed 2 rad s7'. In 4 s, the disc has
rotated through an angle of

1. 14 rad
2. 24 rad
3. 40 rad
4. 56 rad
Options :
85133015053. 1
85133015054. 2
85133015055. 3
85133015056. 4

Question Number : 14 Question Id : 8513303767 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

15/153
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4l Tfchd] &1 BIVT @07 4 rad s YT ARG HIUTG A 2 rad 7 81 4s H 39 Iibdl gRI
gfofd farar a1 S e -

1. 14 rad
2. 24 rad
3. 40 rad

4, 56 rad

Options :

85133015053. 1
85133015054. 2
85133015055. 3
85133015056. 4

Question Number : 15 Question Id : 8513303768 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

16/153
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The variation of intensity of gravitational field (E) of the moon (having radius R) with distance
(r) from the centre of the moon is represented by

A
E
1. r
>
R
A
E
R r
2 >
A
3
3' r
>
R
A
E
. R r
4, \/“ >
Options :

85133015057. 1
85133015058. 2
85133015059. 3
85133015060. 4

Question Number : 15 Question Id : 8513303768 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

17/153
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50T R & g8l & TEidy U &5 DI diddl 1 9511 & b= 9 g3l r & w1y faaru [Ed &

A
E
1. r
>
R
A
E
R r
2 >
A
3
3' r
>
R
A
E
. R r
4, \/“ »
Options :

85133015057. 1
85133015058. 2
85133015059. 3
85133015060. 4

Question Number : 16 Question Id : 8513303769 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

18/153
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. : o . -
A planet has a radius twice but density 235 compared to earth. The ratio of escape velocity

from earth to that from the planet will be,

1. 1:2

2014

3 211

4. 31
Options :
85133015061. 1
85133015062. 2
85133015063. 3
85133015064. 4

Question Number : 16 Question Id : 8513303769 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ot 77 @1 Froa e ot Bl 1 1 1, 0] S d Ul @ 9 & 1/4 T 81 gl O
U AR 39 98 Y GaiH 97 &1 S97d 81T -

1152

T3

Ll

S i
Options :
85133015061. 1
85133015062. 2
85133015063. 3
851330150064. 4

oW

Question Number : 17 Question Id : 8513303770 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The escape velocity of a rocket launched from the surface of earth towards a planet

1. Does not depend on the mass of the rocket

2. Does not depend on the mass of the earth

3. Depends on mass of the rocket

4. Depends on mass of the planet towards which it is moving
Options :

85133015065. 1

85133015066. 2
19/153
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85133015067. 3
85133015068. 4

Question Number : 17 Question Id : 8513303770 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl & gg ¥ fdbl U5 i 3R UHifd [ Y & Gag o

1. e B GouarH W R T8 Pl 2

2. gt & e W R T avar g

3. Jbe & gogaH R R sar gl

4. 39 U8 & qooHH R R ol forga! 3R g o 8
Options :

85133015065. 1

85133015066. 2

85133015067. 3

85133015068. 4

Question Number : 18 Question Id : 8513303771 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For a geostationary satellite the angular speed in unit of radian per hour is,

1. 7/12
2. m/6
3.2

4

Options :

85133015069. 1
85133015070. 2
85133015071. 3
85133015072. 4

Question Number : 18 Question Id : 8513303771 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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(5T vfd o1 & et | i Y Dfae Su9E o sivfig I skl &

1.m/12
2.m/6

3. w/2

4.

Options :
85133015069. 1
85133015070. 2
85133015071. 3
85133015072. 4

Question Number : 19 Question Id : 8513303772 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The elastic energy stored per unit volume in a stretched wire is,

1. 2 (Young's modulus)x (strain)?
2.

3.

(Young's modulus)x (stress)-

(stress) = (strain)

B [ = B3 =

I

; (stress)/(strain)
Options :
85133015073. 1
85133015074. 2
85133015075. 3
85133015076. 4

Question Number : 19 Question Id : 8513303772 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fpt AT AR & 0 Ui e i YRy - Sl eidl & -

_ﬁﬁﬁn.?
(@11 - [UTi) x (Hfciec)?

(fe) x (i)

4, ;(ufdsa / fapid)

3
g_

Lad [
[T o [ R

Options :
85133015073. 1
85133015074. 2

85133015075. 3
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85133015076. 4

Question Number : 20 Question Id : 8513303773 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The radius of a spherical drop of radius r is increased by Ar. The extra surface energy is (S is

interfacial tension at liquid-air interface)

1. 4w(Ar)%S

2. 4m®(Ar)ES
3. 8m(Ar)*S
4, 8ar(Ar)S
Options :
85133015077. 1
85133015078. 2

85133015079. 3
85133015080. 4

Question Number : 20 Question Id : 8513303773 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR H ol ¢ @1 T 71ieig € @1 Fed1 | Ar B gl 1 T 51 Sfdiad g Sell & (s
%9 - 91 JTRIY8 W ARYEI dE 8 )

1. 4w(Ar)°S

2. 4w (Ar)*S
3. 8m(Ar)*S
4. Brr(Ar)S
Options :
85133015077. 1
85133015078. 2

85133015079. 3
85133015080. 4

Question Number : 21 Question Id : 8513303774 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The compound which undergoes sublimation is

1. Water

2. Ethanol

3. Dry ice

4. Coconut oil
Options :
85133015081. 1
85133015082. 2
85133015083. 3
85133015084. 4

Question Number : 21 Question Id : 8513303774 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. vl

2. QA

3. 35 9

4 AIRGA BT da
Options :
85133015081. 1
85133015082. 2
85133015083. 3
85133015084. 4

Question Number : 22 Question Id : 8513303775 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In Celsius scale a temperature (f¢) is related to Fahrenheit scale temperature (tf) as

t, —32
1.8
tg+ 32
1.8
3.t =1.8(t; — 32)

4. t. = 1.8(t, + 32)

1
i

b=

2.t, =

Options :

85133015085. 1
85133015086. 2
85133015087. 3
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85133015088. 4

Question Number : 22 Question Id : 8513303775 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ifcqgs U9 @1 315 17 t, BYEREe 09H & 91 +; J 0¥ YeR 4dfid gidr g2

, t. —32

“feT g

2¢.=&+32
2 1.8

3. tp = 1.8(tp — 32)
4. t. =1.8(t. + 32)
Options :
85133015085. 1
85133015086. 2
85133015087. 3
85133015088. 4

Question Number : 23 Question Id : 8513303776 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Estimated average thermal energy of a helium atom at room temperature (27 °C) is
Ky =1:4%10 2 ] K

TR e i G 11
631072
3.1.26 x 10720 §
4252 %10730)
Options :
85133015089. 1
85133015090. 2

85133015091. 3
85133015092. 4

Question Number : 23 Question Id : 8513303776 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HE Y (27 °0) TR Tl iferas WA &1 Hibiad ad FHG FHull 8idl 8 (Kp = 1.4 % 10723 |
K

B e ey 1 B
2. 63xX107% )
e Br g | 1l
Tl 7506 1l
Options :
85133015089. 1
85133015090. 2

85133015091. 3
85133015092. 4

Question Number : 24 Question Id : 8513303777 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following relationships between the acceleration @ and the displacement x of
a particle involves simple harmonic motion?

1.a = —50x°
2. a =50x°
3.a =50x

4, a=—50x
Options :

85133015093. 1
85133015094. 2
85133015095. 3
85133015096. 4

Question Number : 24 Question Id : 8513303777 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fardl U1 & R ‘2" AR FGRTT ' & &g i U 710 deel § 9 foud wva anadl afd g
g7

1.a=-50%
2.a=50x%
3.a=50x
4. a=-50x
Options :

85133015093. 1
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85133015094. 2
85133015095. 3
85133015096. 4

Question Number : 25 Question Id : 8513303778 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A satellite of mass m is revolving in a circular orbit of radius r around a planet. If its kinetic
energy is K, then its angular momentum will be
| K
,J mr?
K
" 2mr?
3./ 2Kmr?
4. v2Kmr
Options :
85133015097. 1
85133015098. 2

85133015099. 3
85133015100. 4

2

Question Number : 25 Question Id : 8513303778 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SHH m &1 Sz 39Ys fbdl U & IR AR Fodl r B gy Dal ¥ UHpH $L ol die
@1 7ol ol K &, of S9®I D01y a7 B -

[x

' ‘ql mr?
K

" 2mr?

3./ 2Kmr?

4. V2Kmr
Options :
85133015097. 1
85133015098. 2

85133015099. 3
85133015100. 4
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Question Number : 26 Question Id : 8513303779 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The flux of a uniform electric field E = 3 x 103 N C' through a square of 10 cm side whose

plane is parallel to ¥Y-Z plane is

1. 60 N m?
2. 30 N m?
3.15 N m?
4, 7ero
Options :
85133015101. 1
85133015102. 2
85133015103. 3
85133015104. 4

shals

Question Number : 26 Question Id : 8513303779 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fa ! UHgHM fagdd &3 F = 3 x 10% N ! @I 10cm Yo7l aTd favdt o, o1 aa v-z dd &
TR €, Y ol ara e §

1. 60 N m?
2.30 N m?
315N m?
4. 34
Options :
85133015101. 1
85133015102. 2
85133015103. 3
85133015104. 4

r'":l r'":l r"I.

Question Number : 27 Question Id : 8513303780 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A parallel plate capacitor with air between the plates has a capacitance 8 x 107*F. If the
distance between the plates is reduced to half and the space between them is filled with a
substance of dielectric constant 6, the new capacitance will become

116 3% 1072 F
2. 48 x1072 F
3.96 x1072 F
4192 x1072F
Options :
85133015105. 1
85133015106. 2
85133015107. 3
85133015108. 4

Question Number : 27 Question Id : 8513303780 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fordlt TR ufee Suiva, forgt uftersi & dfa arg u¥l &, @1 41l sx 1012 F 81 g
afewmrei & dg @ gl e B &1 I 3R U@ & a9 WRIaGdai® 6 I ®is Uary W &

L6 E
2. 48 %1072 F
3.96 X107 F
4192 x1072F
Options :
85133015105. 1
85133015106. 2
85133015107. 3
85133015108. 4

Question Number : 28 Question Id : 8513303781 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The quantity represented by the drift velocity per unit electric field is

1. Potential
2. Resistivity
3. Current
4. Mobility
Options :
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85133015109. 1
85133015110. 2
85133015111. 3
85133015112. 4

Question Number : 28 Question Id : 8513303781 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ufd Usie [aggd &7 udig 47 &l [HEUd &4 ardl Yifad AR &:

1. fgud

2. UfaRiedal
3. Y

4, TicEfierar
Options :
85133015109. 1
85133015110. 2
85133015111. 3
85133015112. 4

Question Number : 29 Question Id : 8513303782 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In circuit (see figure), the ammeter and the voltmeter readings are 4 A and 10 V respectively.

The value of R will be :

R
NAAAA
©
£ )
\L/
44
|
| T
10V
1. 250
2250
3. <2502
430
Options :

85133015113. 1
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85133015114. 2
85133015115. 3
85133015116. 4

Question Number : 29 Question Id : 8513303782 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fau 10 ufvgy (3 ¢Rgd) § aifiet 3R diceticy & UTedid HHEE 4A 31X 10V & | 98 R BTHH
BT (HieX &I 3mal AlFY)

44,

R
A ]
()
Ly @
[
[

10V

1.>250
2,250

3. <250
430
Options :
85133015113. 1
85133015114. 2
85133015115. 3
85133015116. 4

Question Number : 30 Question Id : 8513303783 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The resistance of the filament of an incandescent lamp is

1. Greater when switched off

2. Smaller when switched on

3. Greater when switched on

4. Same whether it is switched on or switched off
Options :

85133015117. 1
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85133015118. 2
85133015119. 3
85133015120. 4

Question Number : 30 Question Id : 8513303783 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fopelt aUdTd o & fibard=< & Uiad BiaT &

1. e o Rag 1% fogr o &

2. 1 9e Rad 314 foar 91 81

3. AfA® o9 Rag oA fear wmar 2|

4. G4 T&dl &, dlc a4 3% ®< 3ydl Rag {4 B4 |
Options :

85133015117. 1

85133015118. 2

85133015119. 3

85133015120. 4

Question Number : 31 Question Id : 8513303784 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two electric bulbs have ratings as 40 W, 120 V and 80 W, 240 V. The ratio of their resistances,
when not glowing, will be

1. 1:1

212

3. &1

4, 4.1
Options :
85133015121. 1
85133015122.2
85133015123.3
85133015124. 4

Question Number : 31 Question Id : 8513303784 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ol fagyd Scdl & FHdI® 40W; 120V 3R 80W; 240V §1 S0 UIdRIHl &1 HJUId BFT (V19 ded
EEGTECRGES

1. 1:1

212

3. &1

4, 4.1
Options :
85133015121. 1
85133015122.2
85133015123.3
85133015124. 4

Question Number : 32 Question Id : 8513303785 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The magnetic field near a current carrying conductor is given by

1. Coulomb's law
2. Lenz's law

3. Biot-Savart law
4, Kirchoff's law
Options :
85133015125. 1
85133015126. 2
85133015127.3
85133015128. 4

Question Number : 32 Question Id : 8513303785 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2 feu e 7y 199 gR1 [l YRIaTe] 90 & Fde geed &F @ Feidd [odl oidl 87

1. PAH BT a9

2. T @ o

3. 911 - TIae o g
4, fE® &1 g
Options :
85133015125 1
85133015126. 2
85133015127. 3
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85133015128. 4

Question Number : 33 Question Id : 8513303786 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An a-particle enters a region of uniform magnetic field whose direction is perpendicular to the
velocity of a-particle. Then we can say

1. Speed of the a-particle will increase

2. Speed of the a-particle will decrease

3. Speed of the a-particle will remain the same

4. The velocity of the o-particle will remain the same
Options :

85133015129. 1

85133015130. 2

85133015131.3

85133015132. 4

Question Number : 33 Question Id : 8513303786 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
D3 o - B b dl U UhTHH TraB [ &F T U< Hidl & fogd! (6= o - B & 97 &1 (G2 &
Trad ¢l d9 gH ®g 9dd o 1D

1. o - DU B ITc] I ST |
2. o - DU DI I °US SIE |
3. o - DU DI I GHM 01
4. o - B BT 3T GHH W0
Options :

85133015129. 1
85133015130. 2
85133015131. 3
85133015132 4

Question Number : 34 Question Id : 8513303787 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Two galvanometers A and B require 3 x 1073A and 4 x 10~? A currents respectively to produce
the same deflection of 25 divisions. Then we can say

1. A is more sensitive than B

2. B is more sensitive than A

3. Both A and B are equally sensitive

4. No inference can be made about the sensitivity from the above data
Options :

85133015133. 1

85133015134. 2

85133015135.3

85133015136. 4

Question Number : 34 Question Id : 8513303787 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gl Tegaedt A 3R 8 T 25 33 &1 GOF G800 309 T4 & [0 HEW0T YR HAE:
3x103A 3R 4x 10 AGI TS CH PE UPd & (@

1. A I Qifedl B § A9 B

2. B B! Qlifedl A T 3@ Bl

3. A 3R B &1 QIedl THH B

4. TUIGd ATHS! & YR W DI HY T8 [HHIal off Ibdl &
Options :

85133015133. 1

85133015134. 2

85133015135. 3

85133015136. 4

Question Number : 35 Question Id : 8513303788 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The universal property of all substances is

1. Diamagnetism only

2. Ferromagnetism only

3. Paramagnetism only

4. Both paramagnetism and diamagnetism
Options :

851330151371

85133015138. 2
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85133015139.3
85133015140. 4

Question Number : 35 Question Id : 8513303788 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

¥ geryT @1 WaiEe Ui § -

1. Had Ul oo

2. had dlegadd

3. Had HTEDC

4. DA AR URigrada Q|
Options :

85133015137. 1

85133015138. 2

85133015139. 3

85133015140, 4

Question Number : 36 Question Id : 8513303789 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The graph (a) and (b) gives the dependence of two reactive impedances X7 and X> on the
frequency of AC voltage applied across them. We can say

A A

}(1 KE‘

Impedance
Impedance

v
v

Frequency Frequency

(a) (b)

1. X7 is an inductor, X> a capacitor
2. X1 is a resistor, X a capacitor
3. X7 is a capacitor, X> an inductor
4. X1 is a capacitor, X a resistor
Options :
85133015141. 1
85133015142. 2
85133015143. 3
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Question Number : 36 Question Id : 8513303789 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[T 10 A1 (a) 3R (b) &l fqgrc ufaarenatl x; AR X, @1, Id Rl U A9 ac dleedra
@1 gl IR R &1 g2id 81 &9 &g 9ad § fd

yferamet \:h ufaaren | x,
M““‘-—.

Sfigf gt

1. X; BIg IRD & ; X, PIS GEIRA 31

2. X, PIS UIUT & ; X, D3 ST Bl
3.X DI AU B ; X, Pls P &

4, Xy Bl GITA © ; X, Dl URIUS ¢
Options :

85133015141. 1

85133015142, 2

85133015143. 3

85133015144 4

Question Number : 37 Question Id : 8513303790 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

5
|

Current varying at the rate 4 A s™' in a coil generates an emf of 16 mV in a nearby coil. The

mutual inductance of the two coils is

1. 4.0 x 1072 mH
2. 40x103% H
3251073 H
4.25 x 107 mH
Options :
85133015145. 1
85133015146.2
85133015147.3

85133015148. 4
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Question Number : 37 Question Id : 8513303790 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fordlt pusal H 4as | @ & U faror & aralt oR1 frdt Midead! @usdl § 16mV @ emf 37
Bl 6| GHl DUSA! BT TR IRP@ & -

1. 4.0 x 1073 mH
2. 40x103% H
3251073 H
4,25 %107* mH
Options :
85133015145. 1
85133015146. 2
85133015147.3
85133015148. 4

Question Number : 38 Question Id : 8513303791 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If a current of 10 A in a coil of self-inductance 5 mH is cut off in time 0.1 s, the induced emf in
the coil is

1.05V

2. 50 mV
3.5mV

4. 05 mV
Options :
85133015149. 1
85133015150.2
85133015151.3
85133015152. 4

Question Number : 38 Question Id : 8513303791 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i {4l 5 mH WURGdE Bi [l pUsdl H Walled 10A YR 0.1 s H YA 8 91l &, dl 39
g:ﬁ-'\'i(":]ﬁﬂlr;m -emeET’ﬁ

1.05V

2. 50 mV
35mV

4. 05 mV
Options :
85133015149. 1
85133015150.2
85133015151.3
85133015152. 4

Question Number : 39 Question Id : 8513303792 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The core of a transformer is made of

1. Copper

2. Aluminium
3. Soft iron

4, Steel
Options :
85133015153. 1
85133015154. 2
85133015155.3
85133015156. 4

Question Number : 39 Question Id : 8513303792 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SIBIHT B shis SE odl & -

1. PR BT

2. Ugfafag &1

3. DIHT TG Bl
4, T BT
Options :
85133015153. 1
85133015154.2
85133015155.3
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85133015156. 4

Question Number : 40 Question Id : 8513303793 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In an AC circuit having only a capacitor, the current
£

1. Lags behind voltage by /2 in phase
2. Leads the voltage by m/2 in phase

3. Leads the voltage by m in phase

4. Lags behind voltage by m in phase
Options :

85133015157. 1

85133015158. 2

85133015159. 3

85133015160. 4

Question Number : 40 Question Id : 8513303793 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Bad GuIg & el ac aRuy f.f, 4RT &l H dicedl 9

1. 7/2 U4 Bidl &
2. /2 3 Bldl &
33T BRI B
4 naY Bl
Options :
85133015157. 1
85133015158. 2
85133015159. 3
85133015160. 4

Question Number : 41 Question Id : 8513303794 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If the total energy of electromagnetic waves falling on a surface is E, for total absorption, the
momentum delivered will be (c is speed of light)

1. E/c

2: 2Ef¢

3. 4E/c

4. E/2c
Options :
85133015161. 1
85133015162.2
85133015163.3
85133015164. 4

Question Number : 41 Question Id : 8513303794 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gic fohdi g W FR-arcl faggd g 1g a1 ®1 $d Sl E o, o Joi SRyl & forg fear i
@a a7 81T (c & B T 971 )-

1. E/c

2. 2E/c

3. 4E/c

4. E/f2c
Options :
85133015161. 1
85133015162.2
85133015163.3
85133015164. 4

Question Number : 42 Question Id : 8513303795 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When light travels from one medium to another, the following will change

1. Frequency and velocity only

2. Frequency and wavelength

3. Wavelength, velocity and frequency only
4. Wave length and velocity only

Options :

85133015165. 1

85133015166. 2
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85133015167.3
85133015168. 4

Question Number : 42 Question Id : 8513303795 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e UHTY U H1eH O gO) A1end H 109 &vdl ¢ af (Hafafad & ofvad i -

1. Had MgRT AR 97

2. 313 3R el

3. Haa quTIed, 97 ST g
4. Had aUIeH 3R T
Options :

85133015165. 1

85133015166. 2

85133015167. 3

85133015168. 4

Question Number : 43 Question Id : 8513303796 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A convex lens of focal length f and refractive index i is immersed in a transparent liquid
having refractive index p. If L=, then

1. f will not change

2. fwill increase

3. convex lens will behave as concave lens
4. convex lens will behave as glass slab
Options :

85133015169. 1

85133015170. 2

85133015171.3

85133015172. 4

Question Number : 43 Question Id : 8513303796 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BIGH Gl - f aUT UGB p, BT B3 SO0 O AUYGAHIP 4y & [Bd IREYP g9 H gal
W%lmﬁ'p > Ug el

1, f gRafdd 9l aRTl|

2. 14 gfg gl et

3. 990 0 3Gdd dF &1 Hifd T9aER ST

4. 399 o9 &id &I giehl B Yifd TIeR S
Options :

85133015169. 1

85133015170. 2

85133015171. 3

85133015172. 4

Question Number : 44 Question Id : 8513303797 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A needle placed 45 cm in front of a lens forms an image on a screen placed 90 cm on the
other side of the lens. The lens and its focal length respectively are

1. Convex ; 30 cm
2. Concave : -30 cm
3. Convex ; 25 cm
4, Concave ; -25 cm
Options :
85133015173. 1
85133015174.2
85133015175.3
85133015176. 4

Question Number : 44 Question Id : 8513303797 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fopdit T & WA 45em G R R el T &1 vfdfers o9 & g3 90em T R UG 0E W
§7d1 2| T8 T SIR US| BIhd gl HHA: T -

1. 3d¢l, 30cm
2. Hdddi, -30cm
3. ddd, 25cm
4. 3ddd], -25cm
Options :
85133015173. 1
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85133015174. 2
85133015175.3
85133015176. 4

Question Number : 45 Question Id : 8513303798 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A ray of light is incident on the surface of a glass plate having u = +/3 at the polarizing angle.
The angle of refraction of the ray will be

1.30°

2. 457

3. 60°

4.75°
Options :
85133015177. 1
85133015178. 2
85133015179. 3
85133015180. 4

Question Number : 45 Question Id : 8513303798 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
u = 3 [bdl Sid BT ufe T & g¥ G Yaul SIv] IR YebT=l HGd- D Il ol 59 [0 &I HudeH
0] BATT -

1. 30°

2. 45°

3. 60°

4.75°
Options :
85133015177. 1
85133015178. 2
85133015179. 3
85133015180. 4

Question Number : 46 Question Id : 8513303799 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An electron and a photon have same wavelength and their momenta are p. and p,
respectively. We can then say

1. B = Iy

2.Ps <Py

3. P = Py

4. No inference can be made
Options :

85133015181.1
85133015182.2

85133015183. 3

85133015184. 4

Question Number : 46 Question Id : 8513303799 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Wwﬁﬁ?muﬂ?ﬁ”ﬁwﬁﬁ T § HR 37 Ga7 HHE: p, AR p, &l 59 Pe
vl & b -

1.0 = Py

2P <Dy

3.0 =Dy

4. @3 5y 8] HdIel o Hadl 6|
Options :

85133015181. 1

85133015182.2

85133015183.3

85133015184. 4

Question Number : 47 Question Id : 8513303800 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The value of X and Y in the following nuclear reaction respectively are
225U + in - 1335k + ENb + 4ln

1.98 ; 41
2.102 ;40
3.103; 41
4.99; 41
Options :
44/153
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85133015185. 1
85133015186. 2
85133015187.3
85133015188. 4

Question Number : 47 Question Id : 8513303800 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

it &1 Tt ifiyeTg sHfHfoar = X SR Y 1 U © -
55U +gn = 151Sb+ Nb + 4¢n

1.98 ; 41

;40

o
99, 41
Options :
85133015185. 1
85133015186.2
85133015187.3
85133015188. 4

1

L P

e Y e |

1

B

Question Number : 48 Question Id : 8513303801 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Neutron was discovered by

1. Marie Curie

2. James Chadwick
3. Ernst Rutherford
4. Neils Bohr
Options :
85133015189. 1
85133015190. 2
85133015191. 3
85133015192. 4

Question Number : 48 Question Id : 8513303801 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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HE O PeRET T e w2

1. 83 gl

2. Oty drsfds
3. 3% ITEBIS
4, A EigR
Options :
85133015189. 1
85133015190. 2
85133015191.3
85133015192. 4

Question Number : 49 Question Id : 8513303802 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ICs having level of integration (number of circuit components or logic gates) between 100 and
1000 are known as

1. 551

2. MSI

3. LSI

4. VLSI
Options :
85133015193. 1
85133015194.2
85133015195. 3
85133015196. 4

Question Number : 49 Question Id : 8513303802 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U Udhidhd 9gYf (Ics) FE 100 1000 & d1d TG S TR (URTY aad S U&= @l
dd 110) Bid &, Pedld & -

1. SSi

2. MSI

3. LSl

4, VLSI
Options :
85133015193. 1
85133015194. 2
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85133015195.3
85133015196. 4

Question Number : 50 Question Id : 8513303803 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Frequencies in the UHF range normally propagate by means of

1. Ground waves
2. Sky waves

3. Surface waves
4. Space waves
Options :
85133015197. 1
85133015198. 2
85133015199. 3
85133015200. 4

Question Number : 50 Question Id : 8513303803 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UHF TRAGR ©1 SgRydaT 9 f6ad gR1 §o20 S & 2

1. YTl

2. i aHll

3. ORI A&
4, ST a1l
Options :
85133015197. 1
85133015198. 2
85133015199. 3
85133015200. 4

Part II Chemistry 4
Section Id : 85133049
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
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Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133053
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513303804 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Salvarsan was discovered by Paul Ehrlich for the treatment of

1. Fever

2. Depression
3. Allergy

4. Syphilis
Options :
85133015201. 1
85133015202. 2
85133015203. 3
85133015204. 4

Question Number : 51 Question Id : 8513303804 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gid Ugiicd - 4oy @] @i [vi9d SUdR & e &1 4, 35 8

1. d9TX (wdy)
2. HdHlg

3. gait
Options :
85133015201. 1
85133015202. 2
85133015203. 3
85133015204. 4

Question Number : 52 Question Id : 8513303805 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The structure of Saccharin is

—
O
1"-\bli.-"-'
e

I

o

b

£

=

I:"I-'I

T ;
=
-

Options :

85133015205. 1
85133015206. 2
85133015207. 3
85133015208. 4

Question Number : 52 Question Id : 8513303805 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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OHiE &l I & -

Q

Options :

85133015205. 1
85133015206. 2
85133015207. 3
85133015208. 4

Question Number : 53 Question Id : 8513303806 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of the repeat unit of neoprene is

Options :

85133015209. 1
85133015210. 2
85133015211. 3
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85133015212. 4

Question Number : 53 Question Id : 8513303806 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[l gRigh giHe &1 98l §aT1 6 -

Cl
Hz | Hz
3 —GC—C—:C ca—
|
o
Cl
__._E_r EEI:I', g;
H
Options :

85133015209. 1
85133015210. 2
85133015211. 3
85133015212. 4

Question Number : 54 Question Id : 8513303807 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terylene is prepared by the condensation of Ethylene glycol with

1. benzene-1,2-dicarboxylic acid
e |

benzene-1,3-dicarboxylic acid
y . e o
benzene-1,4-dicarboxylic acid

e " = S

benzoic acid
Options :

85133015213. 1
85133015214.2
85133015215.3
85133015216. 4

Question Number : 54 Question Id : 8513303807 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Rl @l vl TR e &1 9ua s 9 SUR $d & 98 & -

1. 969 -1, 2 - SEEEGAD TS
249 -1, 3 - SR@E GaaE Uds
3. 49 - 1, 4-SROETGRID TS
Options :

85133015213, 1

85133015214. 2

85133015215. 3

85133015216. 4

Question Number : 55 Question Id : 8513303808 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

One letter code for Tyrosine, an amino-acid is

1. F

2T

XY

4. P

Options :
85133015217. 1
85133015218.2
85133015219. 3
85133015220. 4

Question Number : 55 Question Id : 8513303808 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CHRITG T UiYs & [0 Uh SeR B diS © -

1. F

2T

3.¥

4. P

Options :
85133015217. 1
85133015218.2
85133015219. 3
85133015220. 4
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Question Number : 56 Question Id : 8513303809 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

‘The product {(major) formed in the given organic reaction:

ethanolic KOH

CO0oK

[

COOK

CONH;
T
@:EDN Hz
' CONHs
Options :
85133015221. 1
85133015222.2

85133015223.3
85133015224. 4

Question Number : 56 Question Id : 8513303809 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A €1 718 DraH® TG H §80 3dIG A’

e\ ethanolic KOH

0
COOK

_r\J

COOK

CONH;
7
CONH3
4 @:
CONH;
Options :
85133015221. 1
85133015222. 2

85133015223.3
85133015224. 4

Question Number : 57 Question Id : 8513303810 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the most basic compound in the given options.

1. N-Methyl aniline

2. Phenylmethanamine
3. Ethanamine

4. N,N-Dimethyl aniline
Options :
85133015225. 1
85133015226. 2
85133015227. 3
85133015228. 4

Question Number : 57 Question Id : 8513303810 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fed T famedl § gaiide &g 9Ife &1 Ug9H ifad |

1. N - Bfyd T

2. thfa HeAmH

3. TUATHH

4. NN - SIS UfdE

Options :

85133015225. 1
85133015226.2
85133015227. 3
85133015228. 4

Question Number : 58 Question Id : 8513303811 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following does NOT give positive Fehling’s test?

1. Ethanal

2. Butanal

3. Benzaldehyde

4. Cyclopentanecarbaldehyde
Options :

85133015229. 1

85133015230. 2

85133015231. 3

85133015232. 4

Question Number : 58 Question Id : 8513303811 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9 d O ®F 99/&S beloh UI&T Fel adl 6 ?

1, 949

2. Fead

3. SolcaBsS

4, GEcAPELceesS
Options :

85133015229. 1
85133015230. 2

55/153

Page - 55


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

9/17/2020

85133015231.3
85133015232. 4

Question Number : 59 Question Id : 8513303812 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The compound given below is called as a

1. Catechol

2. Resorcinol

3. Hydroquinone
4. Cresol
Options :
85133015233. 1
85133015234.2
85133015235. 3
85133015236. 4

Question Number : 59 Question Id : 8513303812 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i fou 0 91 & Fed & -

Options :

85133015233. 1
85133015234. 2
85133015235.3
85133015236. 4

Question Number : 60 Question Id : 8513303813 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

For the given organic reaction:

MazCrz0+
Hz504

{ D

‘A’ (Final major product) is

=N

SO3H
Options :
85133015237. 1
85133015238. 2
85133015239. 3
85133015240. 4

Question Number : 60 Question Id : 8513303813 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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OH

MazCrz0y
Hz504

A (G801 IAG) &

o

vl

0

o

0
; OH
.:.—
’ @L
504
oH

SO:H
Options :
85133015237. 1
85133015238.2
85133015239.3
85133015240. 4

Question Number : 61 Question Id : 8513303814 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following methyl halides has the highest dipole moment?

1. CH3-F

2. CH;-d

3. CHz-Br

4. CHz-I
Options :
85133015241. 1
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85133015242.2
85133015243.3
85133015244. 4

Question Number : 61 Question Id : 8513303814 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i fou 1 Ofyd eargs! ¥ 39 ediss & 9g- ot gl fg 4d Smgol S=dd e

1. CH3-F

2. CH3-Cl

3. CHa3-Br

4. CHs-l
Options :
85133015241. 1
85133015242. 2
85133015243.3
85133015244. 4

Question Number : 62 Question Id : 8513303815 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The correct structure of DDT is

O
I

0.

|
C

Cl

i

o H
|

|

[

C
H
Cl
¢
C»l-: .
o H
Cl
Cl

Cl
C

o

C
I
l
Options :
85133015245. 1
85133015246.2

85133015247.3
85133015248. 4

Question Number : 62 Question Id : 8513303815 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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D0

cl
|

c

Cl

i

¢ H
|

|

L

[

C
H
Cl
¢
C
o H
Cl
Cl

Cl
C

o

C
I
l
Options :
85133015245. 1
85133015246.2

85133015247.3
85133015248. 4

Question Number : 63 Question Id : 8513303816 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Number of sigma (o) and pi () bonds present in the given molecule, respectively, are

NC CCh

HzM CM

C==cH

.23 sigma and 5 pi
24 sigma and 5 pi
24 sigma and 9 pi

oW

25 sigma and 9 pi
Options :
85133015249. 1
85133015250. 2
85133015251. 3
85133015252. 4

Question Number : 63 Question Id : 8513303816 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
o8 1 ooy & faw (o) QT UTS () TSI @1 ST HH: B -

NC CClhy

Hah CN

CZ=cH

1. 23g and 5
. 24a and 5
240 and 9m

25a and 9

B

Options :

85133015249. 1
85133015250. 2
85133015251.3
85133015252. 4

Question Number : 64 Question Id : 8513303817 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The stationary and mobile phases used in paper chromatography are mainly

1. Solid and liquid respectively
2. Liquid and liquid respectively
3. Liquid and gas respectively
4. Solid and gas respectively
Options :

85133015253. 1

85133015254. 2

85133015255.3

85133015256. 4

Question Number : 64 Question Id : 8513303817 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
BRTSIgUIcRaA H Wgad wed qUT TTiagiic W 9% &4 4 §, Bk :

1. o duT =d
2. ad dyl gd
3. 59 9919
4.3 TUIE
Options :
85133015253. 1
85133015254. 2
85133015255. 3
85133015256. 4

Question Number : 65 Question Id : 8513303818 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Among the following, the most reactive compound towards NaNH: is

1. 2-Butyne

2. 2-Butene

3. 1-Butyne

4. 1-Butene
Options :
85133015257. 1
85133015258.2
85133015259. 3
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85133015260. 4

Question Number : 65 Question Id : 8513303818 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fofafaa T8 NaNH, & Ula Gaiide AfiHasia 9 & -

1. 2 - &I
2.2-9¢H
3.1 -&2Ig
4.1 -9SH
Options :
85133015257. 1
85133015258. 2
85133015259. 3
85133015260. 4

Question Number : 66 Question Id : 8513303819 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The number of hydrogen atoms bonded to 1°, 2° and 37 carbons respectively in the given
organic compound are

A~k

1. 18,
2. 18,
3. 20,
4.18,
Options :

85133015261. 1
85133015262.2
85133015263. 3
85133015264. 4

[
M P S D

= L

Question Number : 66 Question Id : 8513303819 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2 fou 70 e 9 § 10, 20 YT 3° Se- § AERE gEge WEE] 3 9= 6

1.18,
2. 18,
3. 20,
4.18,
Options :

85133015261. 1
85133015262. 2
85133015263. 3
85133015264. 4

[
Fd a2

O

Question Number : 67 Question Id : 8513303820 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the following reaction:

4HCl + MnO; — = 2H,0 + MnCl, + CL
How many gram of manganese dioxide react with 7.3 g of HCL
(Atomic weight of Mn is 55)

1.0.23

2. 4.85

3.435

4,518
Options :
85133015265. 1
85133015266. 2
85133015267. 3
85133015268. 4

Question Number : 67 Question Id : 8513303820 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g afifear o
4HCl + MnO; — =

IS SIS SSS &1 [da- A, 7.3g HCL.S |1y HHHTT S

(Mn 1 JZHI] -Hefd & 55)

1.0.23

2. 4.85

3.4.35

4.5.18
Options :
85133015265. 1
85133015266. 2
85133015267. 3
85133015268. 4

ZH,0 +

MnCl,

[ ) GETITON
'\ Google Play

Question Number : 68 Question Id : 8513303821 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List |

List 11

Frequency region

lses

. Radiofrequency

A. Radar

I, Microwave

B. Broadcast

lIl. Infra-red region

C. Heating

Choose the correct answer from the options given below

1. 1-B; 1I-A; 1H-C
2. |I-A; 1I-B; 111-C
3. I-A; 1I-C; [I-B
4. I-B; I-C; 1l1-A

Options :

85133015269. 1
85133015270. 2
85133015271.3

66/153

Page - 66


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

[ GETITON ‘
. i\ Google Play
9/17/2020

85133015272. 4

Question Number : 68 Question Id : 8513303821 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FIad | H ol 7 Mg & &1 @ (1 5 Gl T 3Ad 39 § gafed Sifed

HTH | BT Il

HIgRI & I

. 3Bl e A. TSR |
1. AZHIad B. TR i
1. SHaad &3 C. ag= Nl
Yol fdped & -

1. 1-B; II-A; I-C

2. I-A; 11-B; I1I-C

3. I-A; I-C; I1I-B

4. 1-8; II-C; 1lI-A

Options :

85133015269. 1
85133015270. 2
85133015271. 3
85133015272. 4

Question Number : 69 Question Id : 8513303822 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Neon, Krypton and Xenon were discovered by

1. Henry Moseley

2. Glenn T. Seaborg
3. Dmitri Mendeleev
4. Ramsay

Options :
85133015273. 1
85133015274. 2
85133015275.3
85133015276. 4

Question Number : 69 Question Id : 8513303822 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

i, e qur oiFH 31 @l

1. BRI A H B

2. 75 S, tarel = Bl
3, gt Aecha 3
4. G A B
Options :
85133015273. 1
85133015274. 2
85133015275. 3
85133015276. 4

Question Number : 70 Question Id : 8513303823 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the INCORRECT statement/condition for hybridization.

1. The orbitals present in the valence shell of the atom are hybridized.

2. The orbitals undergoing hybridization should have almost equal energy.
3. Promotion of electron is essential condition prior to hybridization.

4. It is not necessary that only half-filled orbitals participate in hybridization.
Options :

85133015277. 1

85133015278. 2

85133015279. 3

85133015280. 4

Question Number : 70 Question Id : 8513303823 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YDH0 B [T TTeid DY / Tl B Ygd DIl -

1. G¥HIY] & Yoofded] BN @09 Ua) § Iufd saie ol Yeidd 8id &l
2. UH0] BR-ATe BEDI B Sall cHIHT S&R giH1 dlfiey]|

3. YB0T o Ud SoideHi & UIFd 8H1 HTWSD ¢

4. T8 HTGD Aol @I dad Y GRd Dafd gl bol J FEHed o |
Options :

85133015277. 1

85133015278. 2
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85133015279. 3
85133015280. 4

Question Number : 71 Question Id : 8513303824 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Number of hydrogen bonded and coordinated water molecules associated with CuS0O4.5H;0,
respectively are

1.2 and 3

2. 3and2

3.4 and 1

4.1 and 4
Options :
85133015281. 1
85133015282. 2
85133015283. 3
85133015284. 4

Question Number : 71 Question Id : 8513303824 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CuS04.5H,0 T Tafid - grgsier HdiRd dyr Taf-ad S AU S T HHk: ¢ -

1.2d4l 3

2.3 dyr2
3.4d4l

4.1 d4r4
Options :
85133015281. 1
85133015282. 2
85133015283. 3
85133015284. 4

Question Number : 72 Question Id : 8513303825 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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MgCl; and LiCl are deliquescent and crystallized from aqueous solution, as their hydrates,
MgCl2.XHz0 and LiClL.YH;0O.

X and Y respectively are

1.2and 8

2. 8and?2

3. Z2and 2

4 8and 3
Options :
85133015285. 1
85133015286. 2
85133015287. 3
85133015288. 4

Question Number : 72 Question Id : 8513303825 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
MgCl, TYT LiCl T aTdl & T 3(UH 818a¢ MgCly.XH,0 T4 LiClL.YH,0 & &4 ¥ Seiig faaaq
U fpwfad fpd i g | X Uy $HT:§ -

1.2d4l8
2.8dul2
3.2d4l2

4. 8d4ls
Options :
85133015285. 1
85133015286. 2
85133015287. 3
85133015288. 4

Question Number : 73 Question Id : 8513303826 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

70/153

Page - 70


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

\

9/17/2020

The alkali metals react with liquid ammonia and liberate hydrogen resulting in the formation
(mainly) of

1. Imide
2. Amide
3. Amine
4. Azide
Options :
85133015289. 1
85133015290. 2
85133015291. 3
85133015292. 4

Question Number : 73 Question Id : 8513303826 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&R UTq 5 SHI-AT 9§ SHTHfhar Bl § 7Yl S5 sie Scieid Bl & fesd GRUMH ToY J8
POHEIAI &

1. RHIRS

2. TAIgS

3. UAH
4.Qullgs
Options :
85133015289. 1
85133015290. 2
85133015291. 3
85133015292. 4

Question Number : 74 Question Id : 8513303827 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The common name of compounds and their formula are given below as pairs. Identify the
INCORRECT pair.

1. Quick lime - Ca0

2. Slaked lime - Ca{OH);
3. Caustic Soda - NaOH

4, Soda Ash - Na>C0O3.H:0
Options :
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85133015293. 1
85133015294. 2
85133015295. 3
85133015296. 4

Question Number : 74 Question Id : 8513303827 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HIfiT®! & g 919 Y1 30 99 U6 1 & 0 & 1 38 70 § | Tad 379 S UgaH DI -

1. feFT =20 941 - cao

2. g1 T - Ca(OH);

3. BIfe® 91T - NaOH

4, IIST &R - Na»CO3.H>0
Options :

85133015293 1
85133015294, 2
85133015295. 3
85133015296 4

Question Number : 75 Question Id : 8513303828 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the following reaction

H;BO; ﬁ—,.. A —ﬁ,.. B
FAMEK e .

1. A=HBO; B=B;0;

2.A=BH; B=B0

3. A =B;0; = HBO>

4. A =BH; B =HBO

Options :

85133015297. 1
85133015298. 2
85133015299. 3
85133015300. 4

Question Number : 75 Question Id : 8513303828 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g oififeeaT & A T 8 ® UgaIF -
A A
HBO; A — g
=30k .
1.A=HBO,; B=EB:0;
2 A=BH; B=Bx0;
3.A=58:0;3 B=HBG:
4. A=BH3; B =HBO:
Options :

85133015297. 1
85133015298. 2
85133015299. 3
85133015300. 4

Question Number : 76 Question Id : 8513303829 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The crystal structure of white tin is

1. Tetragonal
Cubic
Hexagonal

oW

Orthorhombic
Options :
85133015301. 1
85133015302. 2
85133015303. 3
85133015304. 4

Question Number : 76 Question Id : 8513303829 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g o9 @ feea a1 3 8 ?

1. GIEHCTETE
2. 941G

3. YeHIg

4, fauATHETE
Options :
85133015301. 1
85133015302. 2
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85133015303. 3
85133015304. 4

Question Number : 77 Question Id : 8513303830 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following chemical reactions does NOT occur in a blast furnace during the
extraction of iron?

1. 3FE303 + CO — e IFESO_‘ + (.‘D:

3. FeO + CO - = Fe + CGI
4. FeO + C - w Fe + CO
Options :

85133015305. 1
85133015306. 2
85133015307. 3
85133015308. 4

Question Number : 77 Question Id : 8513303830 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HERA & eyl & fou arenygl 5 814 arel o IaHe A ed 8 ; 8 6 -

1. 3FE203 + CO _— = EFEBD_‘ + (?Dz
2. 2Fe30y + CO ____ o, 3Fe,03 + 3CO,

3. FeO + CO = > . Fe + CO,
4. FeO + C . . Fe + CO
Options :

85133015305. 1
85133015306. 2
85133015307. 3
85133015308. 4

Question Number : 78 Question Id : 8513303831 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the given hydrides of group 15 elements has the lowest boiling point?

1. NH3
2. PH3
3. AsH3
4

. SbH3
Options :

85133015309. 1
85133015310. 2
85133015311. 3

85133015312. 4

Question Number : 78 Question Id : 8513303831 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
77 15 9l & slealsel 4 U foad HyHi® HEdd 8 2

1. NH3

2. PH3

3. AsHs

4. SbH»
Options :
85133015309. 1
85133015310. 2
85133015311. 3
85133015312. 4

Question Number : 79 Question Id : 8513303832 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for Mn;0O7, CrO3 and V205 from the following

1. Mn>07, CrO3 and V>0s5 are acidic

2. CrO3 is acidic while Mn>O7 and V205 are basic
3. V205 is acidic while CrO3 and Mn;O7 are basic
4. Mn>07, CrQ; and V>0s5 are basic

Options :

85133015313. 1

85133015314. 2

85133015315.3

85133015316. 4
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Question Number : 79 Question Id : 8513303832 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ﬁgﬁ Mnz07, CrO; d4l Vo005 ﬁimgﬁﬁ fddhed gﬁk’l

1. Mn>07, CrO; TT V205 371 B

2. CrO5 f¥iiT 8 914 &1 Mn>O7 a4l Vo005 &R B
3. V>0s 3G & g & CrO; Ul Mn,O; &R &
4. Mn;0, CrO; T V205 &RIT g

Options :

85133015313, 1

85133015314. 2

85133015315. 3

85133015316. 4

Question Number : 80 Question Id : 8513303833 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given

A B C

X () X (g)

X:(2) X (aq)

Where Ag4;..H® — dissociation enthalpy; A.,,H® — sublimation enthalpy;
A H® — lonisation enthalpy; 4,,H® — electron gain enthalpy;
ﬁhdeB — hydration enthalpy and A,.H® = lattice enthalpy

Select the correct option from the following

1. A= AgsH®, B = AH°, C = ApyH®
2. A=AHE, B = A H®. C = ApygH®
3. A= Ags . HP. B= &EEHE'. C = ApH®
4. A= AgpH®. B = A, H®, C = ApyeH®
Options :

85133015317. 1
85133015318. 2
85133015319. 3
85133015320. 4
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Question Number : 80 Question Id : 8513303833 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fearmar g -

B €
Xa(g) X@ — X@— X@ag

Where Ay, H® — dissociation enthalpy; A,,,H® — sublimation enthalpy;
A, H® — lonisation enthalpy; .ﬂEEHE — electron gain enthalpy;
Apya H® — hydration enthalpy and A,.H® = lattice enthalpy

1. A= él4:1133:[_]:@- B-= ﬂ"'eE'H@‘ S ‘ﬁhf"dHEI

2. A=AgpHO, B = A H®, C = AyygH®
3. A=AgsH?, B = A H®, C = AjH®
4. A= AuH®, B = A..H®. C = ApyaH®
Options :

85133015317. 1
85133015318. 2
85133015319.3
85133015320. 4

Question Number : 81 Question Id : 8513303834 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct electronic configuration of Xe is

1. [Ar]4d 10 55° 5p°©
2. [Kr]3d1° 452 4p°®
3. [Kr]4d1° 552 5p°®
4. [Ar)3d10 457 4p°
Options :
85133015321. 1
85133015322. 2
85133015323. 3
85133015324. 4
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Question Number : 81 Question Id : 8513303834 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Xe @1 Ual Scidcii-d 4014 & -

1. [Ar}4d° 557 5p°®
2. [Kr13d1° 452 4p°®
3. [Kr]4d'? 552 5p°
4. [Ar]3d'0 452 4p®
Options :
85133015321. 1
85133015322. 2
85133015323. 3
85133015324. 4

Question Number : 82 Question Id : 8513303835 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When V>0s5 reacts with alkalies and acids, ... X......and ... ¥...... are formed respectively.
Xandy are

1. X =V0;%, Y=VO?*
2. X=V0s>", Y=VOu
3.X=V0s*, Y=V~
4. X =V0%¥, Y=Vs0;
Options :

85133015325.
85133015326
85133015327.

85133015328.

A WD =

Question Number : 82 Question Id : 8513303835 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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d V05 &R®| aUl % & 91y Affra eai s diXx dul Y SId g X dUT Y & -

1. X =V0O4s, Y=Vvo
2. X =V0s3, Y=VO5
3. X=V0s", Y =VO,S
4. X =V0%*, Y =V50;3
Options :

85133015325.
85133015326.
85133015327.
85133015328.

AW NN~

Question Number : 83 Question Id : 8513303836 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of following pairs in actinide series can have the highest oxidation state?

1. Np, Pu

2 U, Am

3 U, Em

4. Am, Cm
Options :
85133015329. 1
85133015330. 2
85133015331.3
85133015332. 4

Question Number : 83 Question Id : 8513303836 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Uldeigs Uil 45 8 § ¥ [0" Uh g/ & GHi dwdl © RIS JaRI 3=aH o Adhdl © -

1. Np, Pu

2. U, Am

3 U, €m

4 Am, Cm
Options :
85133015329. 1
85133015330. 2
85133015331. 3
85133015332. 4
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Question Number : 84 Question Id : 8513303837 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct IUPAC nomencdlature of [NiCl2(PPhs);] is

1. Bischleridobis(triphenylphosphine)nickel(ll)
2. Dichloridobis(triphenylphosphine)nickel(ll)
3. Dichloridodi(triphenylphosphine)nickel(ll)
4. Bischloridodi{triphenylphosphine)nickel(ll)
Options :

85133015333. 1

85133015334.2

85133015335.3

85133015336. 4

Question Number : 84 Question Id : 8513303837 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[NiClo(PPhs),] 1 T SSguiedt (UPAC) TH & -

1. SOgaRiE! - 99 bR BRwiE) FHdd - (1)
2. Blagaidial - [99 ERbAa Brewied) FHad - (1)
3. SRdANISISls (Ca b BrbIe-) Fdd - (11
4. foogaiSlen (@ehiid BrRdie) FHa - (1)
Options :

85133015333 1

85133015334. 2

85133015335. 3

85133015336. 4

Question Number : 85 Question Id : 8513303838 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The molarity of an antifreeze sclution prepared by mixing 236 g of ethylene glycol (C:HgO3)

9/17/2020

and 300 g of water is
(Given: density of solution = 1.072 g/mL)

1.845 M
2.910 M
3.761TM

4. 14.06 M
Options :
85133015337. 1
85133015338. 2
85133015339.3
85133015340. 4

Question Number : 85 Question Id : 8513303838 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
236 UM TAR™@I (C;Hs0,) 941 300g &d &I Helid: -1 714 Ufdied (antifreeze) faea &
HieRal gril - (a1 71 ¢ : fdem &1 99 = 1.072g/mL )

1.845 M
2.910 M
3.761TM

4. 14.06 M
Options :
85133015337. 1
85133015338. 2
85133015339. 3
85133015340. 4

Question Number : 86 Question Id : 8513303839 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the dissclution of a solid in a liquid, choose the incorrect statement.

1. If the dissolution is endothermic, the solubility should increase with rise in temperature.

2. If the dissolution is exothermic, the solubility should decrease with rise in temperature.

3. Pressure affects the solubility of solids in liquids such that on increasing pressure, solubility
of solids in liquid increases.

4. Solute dissolves in a solvent if the intermolecular interactions are similar in the two.
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Options :
85133015341. 1
85133015342. 2

85133015343.3
85133015344. 4

Question Number : 86 Question Id : 8513303839 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U% 5d 4 0P 319 o fdadd (dissolution) & (o1, TTe7d By @I q 7 -

1. 7i¢ faerg S ¢ o 1Y & S¢ & 91y faeigdr s¢-f 91t

2. 4% faua= Sw1adT 8 41 9" de4 § f3ogar gl 9|

3. %0 T 319 @1 faaad @ &8 UH1ad @Xdl 8| <4 &1 & 96 IR 59 4 314 @1 facadl 9641 ol
4. faara® e gadi 8 afe Aawsiue g o oiHl 5 0 59 8

Options :

85133015341 1

85133015342. 2

85133015343 3

85133015344, 4

Question Number : 87 Question Id : 8513303840 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement from the following

1. Standard boiling point of a liquid is slightly lower than the normal boiling point.
2. Boiling does not occur when liquid is heated in a closed vessel.

3. The Sl unit of coefficient of viscosity is kg m=1577,

4. When the attractive forces between molecules of a liquid is large, the surface tension is low.
Options :

85133015345. 1

85133015346.2

85133015347.3

85133015348. 4

Question Number : 87 Question Id : 8513303840 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 0% 54 @ M@ SHYHS 390 9H- YIS 4 YIS SH gidl &
2. 514 54 [ dl ¢ U § TH 61 9IdT & o $YH® ol eidl 6

3. WHAI UG DI ThDd o kgm™ s,
4. 99 (4l 59 & T & did SHYU gl D Bidl & ol 98 o1 43 sidl o
Options :
85133015345. 1

85133015346. 2
85133015347.3
85133015348. 4

Question Number : 88 Question Id : 8513303841 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List | List Il
Graph Law
B, A. Boyle's law
P
Yolume
B =
-300 :
Tenperature ("C)
1. B. Avogadro’s law
1"'"2
Pressure
(bar)
V5V,
Temperature (K)
1R 3 = C. Charle’s law
T
Pressure
T 5T
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1M\ olume

1\, D. Gay-Lussac's law

Volume:

Mumber of moles of gas

Choose the correct answer from the options given below

1. 1-D; I-C; I-A; IV-B
2. 1-C; II-D; 1I-B; IV-A
3. I-C; II-D; 11-A; IV-B
4. |-D; I-C; I-B; IV-A
Options :
85133015349. 1
85133015350. 2
85133015351. 3
85133015352. 4

Question Number : 88 Question Id : 8513303841 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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®1aH | H a8 710 91! @1 @1ed 1| H 158 7 399 gefad HoHt 9 gaied sifeg

T | dIH I
D,
B
Yolume / s
I Z G A. 9199 &1 HgH
0 remperature (O)
v,
""I}
Fressure
i B. SMTAFTE! &1 Fad
V=V,
0 Tamperature (K}
T;
/ T,
A
IIl. Pressure / C. 91d @ FaH
T,<T,
1Nalume
u, Vo // D. 71 - TEIH &1 a9
S
0
Number of moles ofgas
ol [d@cy 31 g1 DI ;

1. 1-D; U-C 1-A; IV-B
2. 1-C; 1I-D; 11-B; IV-A
3. I-G; 1I-Dj; 1I-A; IV-B
4. I-D; -G I-B; IV-A
Options :
85133015349. 1
85133015350.2
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85133015351. 3
85133015352. 4

Question Number : 89 Question Id : 8513303842 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 moles of helium gas at 1 bar is compressed reversibly and isothermally at 400 K to 10 bar
pressure. What is the work done (in J) on the system if R = 8.314 JK™' mol1?

1.2.29 x 104
229 x 107*
-2.29 x 10¢
~2.29 x 1074
Options :
85133015353. 1
85133015354 2
85133015355. 3
85133015356. 4

oW

Question Number : 89 Question Id : 8513303842 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 barmmﬁWﬁF?E moles I IEpHUITY TUT THAUY ¥U 9 400K TR 10bar old d&
qdifsd far mn Hed R B ™IS’ © - R = 8.314 KT mol ™

1. 2.29 x 10*
229 % 1074
~2.29 x 10*
-2.29 x 1074
Options :
85133015353. 1
85133015354. 2
85133015355. 3
85133015356. 4

oW

Question Number : 90 Question Id : 8513303843 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement out of the foellowing.

1. Molar heat capacity is an intensive property.

2. AS = 0 for an isolated system (AU = 0).

3. Bomb calorimeter is used to measure the heat absorbed at constant volume.
4. Pressure, volume and work done on the system are state functions.

Options :

85133015357. 1

85133015358. 2

85133015359. 3

85133015360. 4

Question Number : 90 Question Id : 8513303843 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 & 9 TTd &Y @1 gA1d DI :

1. HITR ST U HTE W7 I0T4H 5|

2. T fagad @™ (au = o) T as > 0

2. FRR {1ada W Tiitd S & 719 & ford 99 SarE uged el |
4, T4 3{T4d Y1 U@ o U2 fodl 71 $1 3% Bad o

Options :

85133015357. 1

85133015358. 2

85133015359. 3

85133015360. 4

Question Number : 91 Question Id : 8513303844 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Correct statement for the given reaction

€r,0,° (ag)+ S0,* (ag) = Cr**(aq) + S0," (ag)
is.

1. Generally S04 is not a reducing agent

2. Cr*can be further reduced in this reaction
3. Oxidation by S03°" gives Cr**

4. In CrgDTE' oxidation state of Cr is not +6
Options :
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85133015361. 1
85133015362. 2
85133015363.3
85133015364. 4

Question Number : 91 Question Id : 8513303844 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A P s orad sy E -
Cr,0,° (aq) + S0;* (ag) = Cr**(aq) + 50,7 (aq)

1, 5042 U HUIHS o &

2. 39 ffYfeear & ¢+ &1 3R U=gd 8 8f 9ddl o
3. 5052 BRI MEE ¥ o flRfTa s g
Cro07%  Cr ®1 T 3T +6 5] 8
Options :

85133015361. 1

85133015362. 2

85133015363. 3

85133015364. 4

:b\-

Question Number : 92 Question Id : 8513303845 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List Il
Reaction Enzyme
|, Starch — Maltose A, Zymase
.  Glucose — Ethyl alcohol + CO, B. Diastase
Ill. Sucrose — Glucose + Fructose C. Maltase
V. Maltose — Glucose D. Invertase

Choose the correct answer from the options given below

1. 1-C; 1I-A; 11I-D; IV-B
2. I-A; I-D; 111-B; IV-C
3. 1I-G 1I-Dy; 11-A; IV-B
4. I-B; I-A; 11-Dy; IV-C
Options :
85133015365. 1
85133015366. 2
85133015367. 3
85133015368. 4

Question Number : 92 Question Id : 8513303845 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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&I | 1 60 10 AfYTpars &1 39! 3aiRe & ard T=asd| & 91y < ey 1| 5 B, gafad
ﬁ'ﬁﬁlﬁ:

T | & Il
. %Td — Alce ™ A, SIEHS
II. TSI — TRl + CO; B. SO
1. GPI — ThId + Waerd C. Ol q
V. e g — b D.31de g

el g & -

1. I-C; 1I-A; 1I-D; IV-B
2. |I-A; 1I-D; 11I-B; IV-C
3. I-C; II-D; 11-A; IV-B
4. I-B; 1I-A; 111-D; IV-C
Options :
85133015365. 1
85133015366. 2
85133015367. 3
85133015368. 4

Question Number : 93 Question Id : 8513303846 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following method is not used for the coagulation of lyophobic sols?

1. Bredig's Arc method

2. Electrophoresis

3. Addition of flocculating ion
4. Persistent dialysis

Options :

85133015369. 1

85133015370. 2

85133015371.3

85133015372. 4

Question Number : 93 Question Id : 8513303846 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ay faferat § @1 1 fafy ga Rl 9id & e & AU 9 ugad aldl & 2
1. 93T o 1Aty

2. 3GgadUI - YdaH

3. 30U S ard 314 &1 aA
4, €19 Ryt alET

Options :

85133015369. 1
85133015370. 2
85133015371. 3
85133015372. 4

Question Number : 94 Question Id : 8513303847 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The decomposition of dimethyl ether obeys the following rate law

CH;0CH,(g) - CH,(g) + H,(g) +CO (g)

3.'
rate = k(Pey ocu, ) '2

The rate of the reaction is followed by monitoring the increase in pressure in a closed vessel.
If pressure is measured in bar and time in min, then the units of rate and rate constant,
respectively are

1. bar 32 min~1, bar min™"
2. bar min~7, bar" ¥4 min~
3. bar min~7, bar 2 min
4, bar~2min-1, bar min~?
Options :

85133015373. 1
85133015374.2
85133015375. 3

85133015376. 4

Question Number : 94 Question Id : 8513303847 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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SIEHIAT $WR @1 faura 9 oY s & Sau &dl g -

CH30CH,(g) - CH,(g) + H,(g) +CO (g)

le
G -rate = k(pcy ocy,) /2

AHTSHTT & R DT IS &6 U H 519 @ 9IS H AR a1 §1 3fE <9 B bar 7 99T WHT
@1 min H A9 9141 81 df &2 aUl &2 Fadi® & Uhd HH: 6 -

L W et | e
1. bar*2 min~", bar min~'

2. bar min~7, bar~ 2 min~1
3. bar min~7, bar 32 min
4, bar~2min-1, bar min~’
Options :

85133015373. 1
85133015374. 2
85133015375. 3

85133015376. 4

Question Number : 95 Question Id : 8513303848 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a first order reaction, the relationship between the time required for 99% completion of
reaction (tpgg) and the time required for completion of 90% of reaction (tggp) is

1. tg.g0 = 10tp0g
2. tg.g0 = 2tp g9
3. thgo = 10tp0p
4. togg = 2tgo0
Options :

85133015377. 1
85133015378. 2
85133015379. 3
85133015380. 4

Question Number : 95 Question Id : 8513303848 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

92/153

Page - 92


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

[ ) GETITON
. , ‘\ Google Play

9/17/2020
o wife e & fag Sffehar & 99% & qul g1H o feTT HTaad W (1o g0) TUT SfHfcHaT
@ 90% & Ul B & ToTT TaRT®H T (tg.g0) T a0 THEH & -

1. tgog = 10tp g
2. tpg0 = 2tpge
3. tg.gg = 10tp 90
4. togo = 2tpg0

=]
A3

=]
Vs

Options :

85133015377. 1
85133015378. 2
85133015379.3
85133015380. 4

Question Number : 96 Question Id : 8513303849 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The solubility of Sr(OH); at 298 K is 20 g/L of sclution. The pH of this solution will be

(Given: melar mass of Sr = 88 g/mol; log 40= 1.60; and log 122 = 2.086)

1.13.51

2. 048
3.10.22
4.11.25
Options :
85133015381. 1
85133015382.2
85133015383.3
85133015384. 4

Question Number : 96 Question Id : 8513303849 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
298 K UF, Sr(OH), ! fdaiddl 20g /L [Aaga €1 59 f9a9- &1 pH 811l (631 T/ € - Sr &1 Hiek
godHI = 88g/mol ; log 40= 1.60; d4l log 122 = 2.086)

1.°13:51
2. 048
3.10.22
4.11.25
Options :
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85133015381. 1
85133015382.2
85133015383.3
85133015384. 4

Question Number : 97 Question Id : 8513303850 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On addition of 50 mL of 0.1 M CH3COOH solution to 25 mL of 0.1 M NaOH, the pH of the
solution is

(Given: K, of CH3COOH = 1.77 % 1072 log1.77 = 0.248)

1.9.25

2. 475

3. 4,01

4.918
Options :
85133015385. 1
85133015386.2
85133015387. 3
85133015388. 4

Question Number : 97 Question Id : 8513303850 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
W€ 0.1 M CH3;COOH @ 50ml @1 0.1 M NaOH @ 25ml & 91 3ifiifesfia foar srar & af o
fder= @1 pH BT - (T TS - CH;COOH & K, DI TH = 1.77 % 107% log1.77 = 0.248)

1.9.25

2.4.75

3. 4,01

4.918
Options :
85133015385. 1
85133015386. 2
85133015387. 3
85133015388. 4

Question Number : 98 Question Id : 8513303851 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements about a mercury cell is incorrect?

1. Zinc-Hg amalgam acts as anode.

2. Paste of HgO and C acts as cathode.

3. Paste of KOH and ZnO is used as electrolyte,

4. Cell potential is 2.50V and it keeps on decreasing with the life of the cell.
Options :

85133015389. 1

85133015390. 2

85133015391. 3

85133015392. 4

Question Number : 98 Question Id : 8513303851 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ao o ¥ Heftrd Fg H 8 2 HYT 38T © -

1. fS® - Hg MM TS @I Hifd BH Bl ol

2. HgO TUT C 1 Uk &hYls &l Yifd & sar e

3. KOH &1 ZnO @1 U fagyd 2uyed &1 Yifd &/ adl s

4. Udl &1 fa4d 2,50 V & 94T T8 Ud & SIS & 91y gedl Sl &
Options :

85133015389. 1

85133015390. 2

85133015391 3

85133015392. 4

Question Number : 99 Question Id : 8513303852 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the cell, Fe | Fe2* (0.1 M) I Cd?* (0.001 M) | Cd (5), the EMF (in Volt) at 25 =¢ is.

(Giver: E%2+ 5 = —044V  ;  E° p2e,0p = —0.40V)

1. -0.7811
2. -0.0191
3. 0.3561
4. -0.4651
Options :
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85133015393. 1
85133015394. 2
85133015395.3
85133015396. 4

Question Number : 99 Question Id : 8513303852 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
25 °C R, Td Fe | Fe2* (0.1 M) || Cd?* (0.001 M) | Cd (s), BT EMF (G H) BT -
(CH T8 : Bt yp, = —044V 5 E% 04,0, = —0.40V)

1. -0.7811

2. -0.0191

3. 0.3561

4. -0.4651
Options :
85133015393. 1
85133015394.2
85133015395.3
85133015396. 4

Question Number : 100 Question Id : 8513303853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Litmus sclution, when shaken with charcoal, becomes colourless. Which one of the following
statements about adsorption from solution phase is incorrect?

1. Extent of adsorption depends on the concentration of the solute in sclution.

2. Extent of adsorption increases with increase of surface area of the adsorbent.

3. Extent of adsorption decreases with the decrease in temperature.

4. Extent of adsorption depends on the nature of the adsorbent and the adsorbate.
Options :

85133015397. 1

85133015398. 2

85133015399. 3

85133015400. 4

Question Number : 100 Question Id : 8513303853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

feieHY faogy & e IR®Id & 91y Had: fea™ 9dl & df 98 e of aidl o | f[aag ey
JatEu s sy Mg A d S I Ry Tad 6 2

1. AT 3 1 fdags & 9oy @ Orsal 1) AR &l g

2. HIE=IYoT & TrHT RN & gHig &hd & 96+ § dedl 6|

3. SfE=IYr &1 A1 91g & 9ed § 9edl e

4. STE=IGr @B AT TS qur SR & Udid W R &l 8
Options :

85133015397. 1

85133015398. 2

85133015399 3

85133015400. 4

Part I1I Biology 4
Section Id : 85133050
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133054
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8513303854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

97/153

Page - 97


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook | P> GooglePlay |

9/17/2020

In acquired immunity

A. Antibodies produced for allergens are of IgA type

B. B-cells themselves do not secrete antibodies but help T-cells to produce them
C. T-cells are responsible for the graft rejection

D. Each antibody molecule has four peptide chains

Choose the correct answer from the options given below

1. B and C only
2. Cand D only
3. A and B only
4. B and D only
Options :
85133015401. 1
85133015402. 2
85133015403. 3
85133015404. 4

Question Number : 101 Question Id : 8513303854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

H. UGS & 91Uef 3add UCIaral IgA PR ®i aidl o

4. B - BIRID] WY UEe] JdIG Jal @d] Sicdh T - DIRIH] &1 WIEE] 309 B § Geldd
gl &1

. T - BIRIG TARY AGRA H 3tRar sldi o |

. Ud® Ueiarel AU OR U0erss oF gad gidl ol

gl [dodia ST -

1. Paadadr ¥
2. Haa g aul g
3. Haa AU g
4, PaAGadd
Options :
85133015401. 1
85133015402, 2
85133015403. 3
85133015404 4
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Question Number : 102 Question Id : 8513303855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cr-Jacob Disease is caused by

1. Prions

2. Viroids

3. Virus

4. Mycoplasma
Options :
85133015405. 1
85133015406. 2
85133015407. 3
85133015408. 4

Question Number : 102 Question Id : 8513303855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
P - Hod AHD DR E"

1. UL

2. AR5 S

3. faum

4 Iliﬁﬁ_i'-ﬂ aH
Options :
85133015405. 1
85133015406. 2

85133015407. 3
85133015408. 4

Question Number : 103 Question Id : 8513303856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The most accepted line of descent in human evolution is

1. Australopithecines — Ramapithecus — Homo sapiens — Homo habilis
2. Homo erectus — Homo habilis — Homo sapiens
3. Ramapithecus — Homo habilis — Homo erectus — Homo sapiens
4. Australopithecines — Ramapithecus — Homeo erectus — Homo habilis — Homo sapiens
Options :
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85133015409. 1
85133015410. 2
85133015411.3
85133015412. 4

Question Number : 103 Question Id : 8513303856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A4 [§oa & doif & gaifie Rffag aaar g -
1, TR fEtdes — vadiey — g Ity — g el

2. Bl Sigeq — eIl efearyg — g 4=

3. YEiEY — g1 efacig — 191 3igey — g4 afta—

4. SRS — NSy — B 3iaey — gl efafay — i aftgg
Options :

85133015409. 1

85133015410. 2

85133015411. 3

85133015412. 4

Question Number : 104 Question Id : 8513303857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Polycistronic genes are generally found in

A

1. Bacteria

2. Amoeba

3. Slime molds
4. Insects
Options :
85133015413. 1
85133015414.2
85133015415.3
85133015416. 4

Question Number : 104 Question Id : 8513303857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015413. 1
85133015414. 2
85133015415. 3
85133015416. 4

Question Number : 105 Question Id : 8513303858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I: Activation of Na™ channels is responsible for the absolute refractory period.

Statements lI: Relative refractory period is the interval during which second action potential
can be elicited, provided the stimulus is strong enough.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

85133015417. 1

85133015418. 2

85133015419. 3

85133015420. 4

Question Number : 105 Question Id : 8513303858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015417. 1

85133015418. 2

85133015419. 3

85133015420. 4

Question Number : 106 Question Id : 8513303859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Plant growth regulator that is synthesized in regions where rapid cell division occurs

1. Abscissic Acid
2. Ethylene

3. Cytokinin

4. Gibberellic Acid
Options :
85133015421. 1
85133015422.2
85133015423.3
85133015424. 4

Question Number : 106 Question Id : 8513303859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015421. 1
85133015422. 2
85133015423. 3
85133015424, 4

Question Number : 107 Question Id : 8513303860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term "Ecosystem” was proposed by

1. E.P. Odum
2. A. G. Tansley
3. E. Haeckel
4. R. Mishra
Options :
851330154251
85133015426. 2
85133015427. 3
85133015428. 4

Question Number : 107 Question Id : 8513303860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DI g fbu- 16T o -

1.3, T 3fisH
2. T, ofl. i
3.3 8%

4, AL e
Options :
85133015425. 1
85133015426. 2
85133015427. 3
85133015428. 4
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Question Number : 108 Question Id : 8513303861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In contrast to Aves, Mammals have

synsacrum
corpus callosum
mammary gland without teats

ear pinna

mOnNnmrE

pneumatic bones
Choose the correct answer from the options given below

1.B and D only

2. A, B and D only
3.C, D and E only
4. A and E only
Options :
85133015429. 1
85133015430. 2
85133015431.3
85133015432. 4

Question Number : 108 Question Id : 8513303861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015429. 1
85133015430. 2
85133015431. 3
85133015432. 4

Question Number : 109 Question Id : 8513303862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List I
A. Stroma . Vacuole membrane
B. Plasmodesmata Il Infoldings in mitochondria
C. Tonoplast I1l. Fluid inside Chloroplast
D. Cristae V. Cytoplasmic connections

Choose the correct answer from the options given below:

A-(llT), B-(IN), C-(1V}, D-(l
A-(1), B-(I), C-(111), D-{IV
A-(ll1), B-(IV), C-(1), D-(li
4. :'1".—|[II]]|r -(11), C-(1), D-(IV
Options :
85133015433. 1
85133015434.2

B - s
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85133015435.3
85133015436. 4

Question Number : 109 Question Id : 8513303862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl - | 1! - 1 D Y e @) -

gl - | Tt - |l

& | g P

9. WieHeTHIe] (I AEela Sl & 3d: 9od
g eHw@Re Il . sRaaa® @1 ARG &l
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Hel faeedd TR I -

T.H-,d-1L,"9-1V,q-1
2H-1,d-1L"9-1l,g-1IV
-1, d-Iv, -1, a-1l
4. -1, 9d-1L9-1,q-IV
Options :

85133015433. 1
85133015434. 2
85133015435.3
85133015436. 4

Question Number : 110 Question Id : 8513303863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A microbiologist identified salinity resistance gene in an actinomycete. Which of the following
plasmids can be used to generate salt-resistant crop using the bacterial gene?

A. Cry - Plasmid

B. BT - Plasmid

C. Ti - Plasmid

D. BAC - Plasmid

E. pET - Plasmid

Choose the correct answer from the options given below

1. B, C and D only
2. B only

3. C only

4. A CandE only
Options :
85133015437. 1
85133015438. 2
85133015439. 3
85133015440. 4

Question Number : 110 Question Id : 8513303863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U Y&H - gRI UaHHEUEY ¥ dauRiel o4 & @ &1 | F9 T 9 $H 91 @iiie
AURIE WSllia & Iedie- | Siary] wii- ol WaHT fdhdl o Yol o |

3. TS - WIS

9. BT - WIS

9. Ti - WIS

. BAC - WIHS
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2. Pad §
3. Paad
4. Had ¥, gaug
Options :
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85133015437. 1
85133015438. 2
85133015439. 3
85133015440. 4

Question Number : 111 Question Id : 8513303864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I: Neutral variation occurs due to point mutations in non-coding regions.
Statements Il: Neutral variation does not confer a selective advantage or disadvantage.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement [l is correct
Options :

85133015441. 1

85133015442.2

85133015443. 3

85133015444. 4

Question Number : 111 Question Id : 8513303864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015441. 1

85133015442, 2

85133015443, 3

85133015444 4

Question Number : 112 Question Id : 8513303865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If E. coli is grown in the absence of lactose, it will stop the synthesis of

1. Ribonuclease

2. B-lactamase

3. B-galactosidase
4. Pyruvate kinase
Options :
85133015445. 1
85133015446. 2
85133015447. 3
85133015448. 4

Question Number : 112 Question Id : 8513303865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015445. 1
85133015446. 2
85133015447. 3
85133015448. 4

Question Number : 113 Question Id : 8513303866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List | List 1l
A. P-wave I. Ventricular repolarization- relaxation phase
B. P-Rinterval |Il. The onset of ventricular depolarization - leads to

ventricular contraction

C. QRS complex |lll. Time for the impulse to be conducted from SA
node to ventricles through the AV node

D. T- wave IV. Atrial depolarization - leads to atrial contraction

Choose the correct answer from the options given below:

1. A-(1), B-(IV), C-(IN), D-(1)
2. A-(I\V), B-(IID), C-(I), D-(1)
3. A-(IV), B-(ll1), C-(1), D-(IN)
4, A-{1), B-{l1), C-(11), D-(1v)
Options :

85133015449. 1
85133015450. 2
85133015451.3
85133015452. 4

Question Number : 113 Question Id : 8513303866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015449. 1
85133015450. 2
85133015451.3
85133015452. 4

Question Number : 114 Question Id : 8513303867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following has "anucleate” cells

1. Sieve tube elements
2. Xylem Parenchyma
3. Companion cells

4. Phloem Parenchyma
Options :

85133015453. 1
85133015454.2
85133015455. 3
85133015456. 4

Question Number : 114 Question Id : 8513303867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015453. 1
85133015454. 2
85133015455. 3
85133015456. 4

Question Number : 115 Question Id : 8513303868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

A. Length of the food chain is generally limited to 3-4 trophic levels due to energy loss.

B. Length of food chain depends upon the producer

C. In hydrarch succession, lichen is the pioneer community

D. Removal of most of the carnivores in an ecosystem results in an increased population of
deer

E. Removal of 80% of top carniveres results in greatly increased growth of vegetation

Choose the correct answer from the opticns given below

1. A B and C only
2. C, D and E only
3. A, D and E only
4. A B and D only
Options :
85133015457. 1
85133015458. 2
85133015459. 3
85133015460. 4

T

Question Number : 115 Question Id : 8513303868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.Haq 3, 9qU g
2. Had 4, g aul g
3. had 3, g aul g
4, HIA A, ddU G
Options :
85133015457. 1
85133015458. 2
85133015459. 3
85133015460. 4

Question Number : 116 Question Id : 8513303869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terrestrial life evolved from aquatic life due to

1. Development of extra-embryonic membranes
2. Development of glandular skin

3. Modification of appendages into limbs

4. High body temperature

Options :

85133015461. 1

85133015462. 2

85133015463. 3

85133015464. 4

Question Number : 116 Question Id : 8513303869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. 3Uil &1 fos © fae™
4, 3= UIRIID I9HH
Options :

85133015461. 1
85133015462. 2
85133015463. 3
85133015464 4

Question Number : 117 Question Id : 8513303870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the secretory phase in the human menstrual cycle also called? How long does it last?

1. Luteal phase, four

2. Follicular phase, four

3. Follicular phase, fourteen
4. Luteal phase, fourteen
Options :

85133015465. 1
85133015466. 2
85133015467. 3
85133015468. 4

Question Number : 117 Question Id : 8513303870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T H A1 o 1 W] S B - i T Sl 8 aYl SHET - [&a ¥ gl 3

1. TGOS 3TRT, IR

2. I eR 3aR], IR
3. BICIRITR 3w, Jcs
4. T[T a1, dicg
Options :

85133015465. 1
85133015466. 2
85133015467. 3
85133015468. 4
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Question Number : 118 Question Id : 8513303871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of cell division in the correct order

Cytokinesis
Metaphase
Anaphase
Telophase

mO N wmrE

Prophase
Choose the correct answer from the options given below

1.EB CAD
2.A B CDE
3.EBCDA
4 A B CED
Options :

85133015469. 1
85133015470. 2
85133015471.3
85133015472. 4

Question Number : 118 Question Id : 8513303871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015469. 1
85133015470. 2
85133015471. 3
85133015472. 4

Question Number : 119 Question Id : 8513303872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which hormone influences water absorption in the collecting tubules of the kidney?

1. Renin

2. Angiotensin
3. Aldosterone
4. Vasopressin
Options :

85133015473. 1
85133015474.2
85133015475.3
85133015476. 4

Question Number : 119 Question Id : 8513303872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.3

2. Taiigre
3. TesIeH
o
Options :
85133015473. 1
85133015474. 2
85133015475.3
85133015476. 4

Question Number : 120 Question Id : 8513303873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List | List 1l
A, Karan rai . Bacterial blight
B. Pusa Komal Il Hill bunt
C. Himgiri Il. Leaf curl
D. Pusa Sadabahar IV. White rust

Choose the correct answer from the opticons given below:

1. A~(1), B-(1I), C-(IV), D-(1lI)
2. A-(IV), B-{1), C-(I1), D-(lI1)
3. A-(1), B-{l11), C-(11), D-(1V)
4, A-(lI1), B-(D),

Options :

85133015477. 1
85133015478. 2
85133015479. 3
85133015480. 4

C-(Iv), D-(lI)

Question Number : 120 Question Id : 8513303873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.H-1,d-1L"H-IV, g- 1l
2ZH-IV,d-1L"9-1, -1
3H-1,d-I,8-1l,g-1V
4. 3-1l, -, F-IV, a-1l
Options :

85133015477. 1
85133015478.2
85133015479. 3
85133015480. 4

Question Number : 121 Question Id : 8513303874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Species found only in a given region and nowhere else in the world are called

A. Regiodemic

B. Demegraphic

C. Pandemic

D. Endemic

E. Epidemic

Choose the correct answer from the options given below

1. B only

2. B and E only

3. D only

4. A CandD only
Options :
85133015481. 1
85133015482.2
85133015483.3
85133015484. 4

118/153

Page - 118


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

9/17/2020

Question Number : 121 Question Id : 8513303874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A U fauer &7 | Ol o7 arel 9ifd @i i3y ¥ a8 [ 6

3, Ricrarsias

4. SHHIbS

. gaeaml

. e

. HemR

el fg®edlg TR g -

1.%ad §

2. Haa g Ayl g

3. HaaG

4. Had ¥, gaulg
Options :
85133015481. 1
85133015482. 2
85133015483. 3
85133015484. 4

Question Number : 122 Question Id : 8513303875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
During the biosynthesis of haemoglobin in sickle cell anaemic patients, CAC codon is
transcribed to

1. GUG

2. GAG

3. CAC

4. CUC
Options :
85133015485. 1
85133015486. 2
85133015487. 3
85133015488. 4
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Question Number : 122 Question Id : 8513303875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i & T & I H RHRdIE & Wg T&Iu0 H CAC Bis 9 H ®UrRa eidl & -

1. GUG

2. GAG

3. CAC

4. CUC
Options :
85133015485. 1
85133015486. 2
85133015487. 3
85133015488. 4

Question Number : 123 Question Id : 8513303876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find out the correct statement(s)

A. Peristalsis is coordinated by the vagus nerve

B. When food enters into the stomach, the activity of salivary amylase stops due to pepsin

C. Deglutition centre is located in the floor of IV ventricle of the medulla oblongata

D. Absorption of cyanocobalamin takes place in the presence of intrinsic factor

E. Carboxypepitidase is a pancreatic endopeptidase that digests the peptides into amino acids
Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3. A, B and D only
4. C, D and E only
Options :
85133015489. 1
85133015490. 2
85133015491. 3
85133015492. 4

Question Number : 123 Question Id : 8513303876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015489. 1
85133015490. 2
85133015491. 3
85133015492, 4

Question Number : 124 Question Id : 8513303877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the sequence of steps followed in linear electron flow during light reaction of
photosynthesis

A. Photoexcitation of Pygg and transfer of an electron to NADP™ via ferredoxin

B. Photolysis of H20O

C. Chemiosmosis and generation of ATP

D. Photoexcitation of Pggp and release of an electron.

E. Electron transport to plastocyanin from plastoquinone via cytochrome complex
Choose the correct answer from the options given below

1.E,D,C B A
2B.D.CAE
3.0,B.ECA
4 ABCDE
Options :

85133015493. 1
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85133015494. 2

85133015495. 3
85133015496. 4

Question Number : 124 Question Id : 8513303877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YT RVl B FpTE 5ha1 H SoiaeH & $@ig Ioi HiF & 997 B

3, P BT TSR L0 YT hLSTaa ERT NADP™ TR S0G2 RIHIa0]
9. GH1 &I hIeiasie
. THGHIHI0 aYT ATP 3dlaA

G. Pggo 1 UepTI 35104 a1 Siac [HEpTee

4. @ReegAH 4 @ReEEHE I Ghei@H SrRUcad & J1EH 9 soded S
:»q_fﬁ Ay 3 ??\:_lﬁ :

1.d—-gq—-H—-d -3
2Zd-gq—-H—=3H-7
33— -9 -4 -3
4 d-d-H-5-9
Options :

85133015493. 1
85133015494. 2
85133015495. 3
85133015496. 4

Question Number : 125 Question Id : 8513303878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Maximum species abundance occurs at which latitude?

1. 41°

2.71°

3.23°

4, 52°

Options :
85133015497. 1
85133015498. 2
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85133015499. 3
85133015500. 4

Question Number : 125 Question Id : 8513303878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Yaiiee S 9+ ard Teieds ®l 9g oY -

1. 41°

2. 71°

3. 23"

4. 52°

Options :
85133015497. 1
85133015498. 2
85133015499. 3
85133015500. 4

Question Number : 126 Question Id : 8513303879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of these happen(s) in muscle contraction?

A. Increase in Ca™~ concentration level leads to the binding of calcium with a subunit of
troponin on actin filaments and thereby removes the masking of active sites for myosin.

B. During shortening of the muscle, A-bands get reduced, whereas, the I-bands retain the
length

C. A muscle fibre is a syncytium

D. Isotropic band of a myofibril consists of myosin

Choose the correct answer from the options given below

1. A and B only

2. A and C only

3. A Band Conly
4. D only

Options :
85133015501. 1
85133015502. 2
85133015503. 3
85133015504. 4
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Question Number : 126 Question Id : 8513303879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ui Gpad H Bl g :
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gl o SR I :

1. %Haq A dUT s
2. Hga Ayl g

3. HId 4, T g
4. $H9AG

Options :
85133015501. 1
85133015502. 2
85133015503. 3
85133015504. 4

Question Number : 127 Question Id : 8513303880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List I
A. Phallomere I Intestine
B. Typhlosole Il. Genitalia
C. Dikaryon l1l. Algae
D. Chloroplast V. Fungi

Choose the correct answer from the options given below:

A-(11), B-(1), C-(IV), D-(IlI)
A-(11), B-(1), C-(IlI), D-(IV)
A-(1), B-(11), C-(IV), D-(llI)

4. A-(IV), B-(I11), C-(1), D-(II)

Options :

85133015505. 1
85133015506. 2
85133015507. 3
85133015508. 4

Question Number : 127 Question Id : 8513303880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - | 1 Gl - 1| & e &
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2311, -1, g-1I,T- IV

3H-1,d-1L"H-1V. g- 1l
4. -\, d-llL"H-1,g-1
Options :

85133015505. 1
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85133015506. 2
85133015507. 3
85133015508. 4

Question Number : 128 Question Id : 8513303881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which property of the water molecule enables it to function as a moderator of temperature for
living organisms?

A. High specific heat
B. High heat of vaporization
Select the correct option from the following :

1. A only

2. B only

3. Both Aand B
4. Neither A nor B
Options :
85133015509. 1
85133015510. 2
85133015511. 3
85133015512. 4

Question Number : 128 Question Id : 8513303881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

W AU B B I (G2 54 Feial § Y o & ©U H gHd §1 87

A. 3= Taf2y arg
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1. Had A

2. Had B

3. A TYT B GHT

4, ATYTB GH T8
Options :
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85133015509. 1
85133015510. 2
85133015511.3
85133015512. 4

Question Number : 129 Question Id : 8513303882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Regarding the identification of plants and animals, keys are prepared on the basis of similarity
and dissimilarity of characters. Which of the following are correct about keys?

A. Contrasting characters generally occur in a pair called a couplet

B. A choice made between two similar options resulting in accepting of only one and rejecting
the other

C. Each statement in the key is known as a lead

D. Keys are generally analytic in nature

E. Key is the collection of plants

Choose the correct answer from the options given below

1. A and B only

2. B and E only

3. B and D only

4. A CandD only
Options :
85133015513. 1
85133015514.2
85133015515.3
85133015516. 4

Question Number : 129 Question Id : 8513303882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015513. 1
85133015514. 2
85133015515. 3
85133015516. 4

Question Number : 130 Question Id : 8513303883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statements I: Sewage discharge in a flowing river causes a decrease in biochemical oxygen
demand (BOD) due to biodegradation of organic matter by microbes. This leads to the
mortality of fish and other aquatic creatures.

Statements ll: Sewage discharge in a flowing river causes a sharp increase in dissolved oxygen
(DO) downstream from point of discharge due to increased consumption of DO by microbes.
This leads to the mortality of fish and other aquatic creatures.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :

85133015517. 1

85133015518.2

85133015519. 3

85133015520. 4

Question Number : 130 Question Id : 8513303883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015517. 1

85133015518. 2

85133015519. 3

85133015520. 4

Question Number : 131 Question Id : 8513303884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List I
A. Homologous . Convergent evolution
B. Paralogous Il. Speciation
C. Analogous 1. Gene duplication
D. Orthologous IV. Divergent evolution

Choose the correct answer from the options given below:

A-(1), B-(II), C-(Il1), D-(IV)
A-(IV), B-(Il1), C-(1), D-(I1)
A-(111), B~(1), C-(IV), D-(II)

4 .":"r“”]l B-(I), C-(I), D-(IV)

Options :

85133015521. 1
85133015522. 2
85133015523.3
85133015524. 4

Question Number : 131 Question Id : 8513303884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - | 1 G -1 DY e o -

gt -| -
H IO | HIYOR] [deg
. OUarE |11 ofd Segad

. g IEEIRIEISIEEE
% HUTEr |1V, OO faarg
el [qmedig IR I -

T.H-1,d-1L"H-1,q-IV
2H-IV,9-1L,9-1, -1l
3.o-M,9-1L,H-1V, G-
4 -1, d-LH-1l,g-IV
Options :

85133015521. 1
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85133015522.2

85133015523.3
85133015524. 4

Question Number : 132 Question Id : 8513303885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is true for the F - factor, a double-stranded closed circular plasmid
DNA?

1. It can only exit autonomously

2. it can either exist autonomously or can integrate into the host chromosome
3. It is confined to the cytoplasm of bacterial cells

4. It can integrate into the host chromosomes

Options :

85133015525. 1

85133015526. 2

85133015527. 3

85133015528. 4

Question Number : 132 Question Id : 8513303885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U - thaeR @ Gl - £56 §= aoid JIs SITA. T -

1. {1 3O 39 Wiifad 3¢ 9ol o

2. TG YTl WUl ®HEAEE H 3= 9k 8l 9l g
3. dfdeaT SIf@T & BIRIPI g0 a® Hied tEdl &

4, U HEEHEY § W@ied s & 98 B

Options :

85133015525. 1

85133015526. 2

85133015527. 3

85133015528. 4

Question Number : 133 Question Id : 8513303886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is a sesamoid bone?

1. Humerus

2. Pterygoid processes
3. Quadrate

4. Patella

Options :

85133015529. 1
85133015530. 2
85133015531.3
85133015532. 4

Question Number : 133 Question Id : 8513303886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9 o 9 fsgs iy &1 994 @1
2. TGS UIEg

3. BIac

4. qddl

Options :

85133015529. 1

85133015530. 2

85133015531.3

85133015532. 4

Question Number : 134 Question Id : 8513303887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Select all routes possible for the transport of water and minerals from root hair to the xylem

A. Transmembrane route

B. Symplastic route

C. Apoplastic route

D. Stomatal route

E. Endodermis route

Choose the correct answer from the options given below

1.A B, Cand E eonly
2. B, C, D and E only
3. A, B, Cand D only
4 A B DandE only
Options :
851330155331
85133015534.2
85133015535.3
85133015536. 4

Question Number : 134 Question Id : 8513303887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR T GI% dd ofd aydl aaull & Jale &1 911 o5 90 31 ;

¥, g gif
9. fgaraies ar

. TaEie® gr

. Y AR

g, Sy On]

el fapedy SR I -

1. %aq 3, 9, gauld
2. ®Haa s 9,5auld
3. $ad 3, 9, gaul G
4. PaqH, 9, 5adT
Options :
85133015533. 1
85133015534. 2
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85133015535.3
85133015536. 4

Question Number : 135 Question Id : 8513303888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following in an order, starting from first trophic level

Cyclops

. Spirogyra
Cat fish
Pelican

mO N wmrE

Small fish

Choose the correct answer from the options given below

1A, B C D E
2.B,A CDE
3.BAECD
4B A EDC
Options :

85133015537. 1
85133015538. 2
85133015539. 3
85133015540. 4

Question Number : 135 Question Id : 8513303888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T U &R 9 & HdS B -

H, ety

q, LT

g. e fpa
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el H @ [Adcdd SR 9 -

SG T
~G =T
< =7
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Options :

85133015537. 1
85133015538.2
85133015539. 3
85133015540. 4

Question Number : 136 Question Id : 8513303889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In comparison to Annelids, Platyhelminthes exhibit

1. Pseudocoe

2. Radial symmetry
3. Bilateral symmetry
4. No body cavity
Options :
85133015541. 1
85133015542. 2
85133015543. 3
85133015544. 4

Question Number : 136 Question Id : 8513303889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. TSI B Uil
2. fsga @y

3. 91cieq Y

4, 9131 wigd] ol UG
Options :
85133015541. 1
85133015542. 2
85133015543. 3
85133015544, 4

Question Number : 137 Question Id : 8513303890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Prokaryotic flagella are made up of protein filaments composed of

1. Flagellin

2. Tubulin

3. Actin

4. Myosin
Options :
85133015545. 1
85133015546. 2
85133015547. 3
85133015548. 4

Question Number : 137 Question Id : 8513303890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
UidRAic® HRMY TS HieH Rd o FEgad aidl & -

1. oA

2. &

3. WacH

4. AR
Options :
85133015545. 1
85133015546. 2
85133015547. 3
85133015548. 4
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Question Number : 138 Question Id : 8513303891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select all correct matches of disease and its causative agent

A. Leprosy — Mycobacterium bovis

B. Chancroid — Haemophilus ducreyi

C. Anthrax — Bacillus subtilus

D. Foed poisoning — Clostridium perfringens

E. Syphilis — Treponema pallidum

Choose the correct answer from the options given below

1. A, Cand D only
2. B, D and E only
3.C, D and E only
4. A B and D only
Options :
85133015549. 1
85133015550. 2
85133015551.3
85133015552. 4

Question Number : 138 Question Id : 8513303891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T AU IFTHRS| & Uel THD BT 98- B -

3. PEIN - Hs@laai g diiad

9. TPIS - BHIBITY SPYId

4. W - §f8aq gaicad

Q. HIoH fauTeidT - &STH W7

1. %aq A, YU g
2. HadE, g auld
3. Haa Y, G aul g
4. D9 A, 9791
Options :
85133015549 1
85133015550. 2
85133015551. 3
85133015552 4

Question Number : 139 Question Id : 8513303892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Restriction enzymes that produce cohesive ends can be used for

1. Blunt-end cloning

2. End- to- end cloning
3. Translation

4. Transcription
Options :

85133015553. 1
85133015554. 2
85133015555.3
85133015556. 4

Question Number : 139 Question Id : 8513303892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TEHYH ToeH oD gRI 83 - TR 99d & 39&1 Wi H g s -

2. T8 4 R i
3. |

4. ¥FaEd

Options :
85133015553. 1
85133015554.2
85133015555. 3
85133015556. 4

Question Number : 140 Question Id : 8513303893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Post-transcriptional modifications in eukaryotes include

1. Pelyadenylation, capping, coding
2. Capping, splicing, coding

3. Coding, splicing, polyadenylation
4. Capping, splicing, polyadenylation
Options :

85133015557. 1

85133015558. 2

85133015559. 3

85133015560. 4

Question Number : 140 Question Id : 8513303893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g@RIded H cifpusH H Fefafad 5iars -

1. GiaUs e, 5iu, SifaT

2, DI, TS, ®ifen

3. DITST, TSR, Uldive FETeEH
4, BT, TSR, gicus aEaeH
Options :

85133015557. 1

85133015558. 2

85133015559. 3

85133015560. 4
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Question Number : 141 Question Id : 8513303894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Important differences between C; and Cy4 plants are

1. Kranz anatomy

2. Electron Transport System

3. Dimorphic chloroplasts

4. Cyclic photophosphorylation

5. Light reaction

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3. A and D only
4. A and E only
Options :
85133015561. 1
85133015562. 2
85133015563. 3
85133015564. 4

Question Number : 141 Question Id : 8513303894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BRCARINE ]
el fadpedig SR I -

1. %aq A auTd
2. Had AT H
3. BIAA UG
4. Haq A aUT g
Options :
85133015561. 1
85133015562. 2
85133015563. 3
85133015564. 4

Question Number : 142 Question Id : 8513303895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List 1l
A. Lysosome . Cisternae
B. Peroxisome Il rRNA
C. Golgi apparatus I Hz03
D. Nucleolus IV. Suicide bag

Choose the correct answer from the options given below

A-(IV), B-(Ill), C-(1), D-(In)

A-(IV), B-(I), C-{111), D-{11)

A-(Il), B-{1), C-(l11), D-{IV)
4. A-(1), B-{l1), C-(111), D-{IV})
Options :

85133015565. 1
85133015566. 2
85133015567. 3
85133015568. 4

Question Number : 142 Question Id : 8513303895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tl - | D1 Y -1 Y HE 3 -

Tl -| gt -1l

. oEaEE | Reget

9. HEEEE  Ilr- ¥RTAT
. el Tu¥ed [ill. H203

& gaciaficy |1V, HTerdrdt de

el [qmedig IR I -
1.H-IV, d-11L,°-1, -1l
2-IV,9-1L,89-1L, G-l
.-, d-LH-1l, G-IV
4 -1, d9-1L"H-1l,g-IV
Options :

85133015565. 1
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85133015566. 2
85133015567. 3
85133015568. 4

Question Number : 143 Question Id : 8513303896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below is a list of microbes and their use as biofertilizer or biopesticide -

A. Mycobacterium leprae- phospherus fixation

B. Nostoc- nitrogen fixation

C. Tuberculina maxima-white pine blister rust

D. Azotobactor- compost enhancement

E. Sphaerotheca fuliginea- cucumber powdery mildew
Choose the correct answer from the options given below

1. A B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
85133015569. 1
85133015570. 2
85133015571.3
85133015572. 4

Question Number : 143 Question Id : 8513303896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

144/153

Page - 144


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

| GETITON ‘
‘\ Google Play

9/17/2020

YEAvild 7YT Sifde e/ I AT=Id GHg BT 99 B -
3. HEHIaIFRTH T1 - BIEHRY R

4. FGCIP - 5o R

. SEG ] HFIHT - ThG Ul sIe? T

T. Oojagey - A 984

|

q. WEIRTIEST B4 - doar Urds! ey
el A SR g

1. Haq 3, gaury
2. Had §, 9aulg
3. Had Y, G aul g
4, Faq 3, gauly
Options :
85133015569. 1
85133015570. 2
85133015571. 3
85133015572. 4

Question Number : 144 Question Id : 8513303897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following organisms do blastopores develop into the anus?

A. Balanoglossus

B. Apis

C. Limulus

D. Pristis

E. Chaetoderma

Choose the correct answer from the options given below

1. B and C only
2.C, D and E only
3. A and D only
4. A and E only
Options :
85133015573. 1
85133015574. 2
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85133015575.3
85133015576. 4

Question Number : 144 Question Id : 8513303897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 4 9 oRaoy o1 e ¥ ey el ¢ -
H, FAGIY

9. ogd

q. feragerd

. fagiey

g, BlfegisvEr

L

Te! fasedlg 3w 9

1. Paad ad ¥
2. Had U, g aul g
3. Paa A TUTG
4. Haa A YT T
Options :
85133015573. 1
85133015574. 2
85133015575. 3
85133015576. 4

Question Number : 145 Question Id : 8513303898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement I: The end products of Electron Transport System (ETS) are ATP and H>O.
Statement II: ETS begins with a reduction of NADH+H™ and ends with the oxidation of O.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

85133015577. 1
85133015578.2
85133015579. 3
85133015580. 4

Question Number : 145 Question Id : 8513303898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

EIERAR: LI R

Y -

SAdEH SUUIC (%N (ETS) &1 3Hfqd 3G ATP 91 H,0 B

&Y - |

SqdeH S-UIE [9%2H (ETS) &1 U™ NADH+H™ H 3{Uged aul o ladior & fRiisy- ¥
g &

JWRIed HYH & AR R el fabedig I -

1. G BY - | T HYT - | T & |

2. G YT - | T HYT - 1| 3§ |

3. @Y - | 9 & Al &Y - | HEA B
4. YT - | T g AP YA - | G B
Options :

85133015577. 1

85133015578. 2
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85133015579. 3
85133015580. 4

Question Number : 146 Question Id : 8513303899 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of Glycolysis, starting from first to last

A. Glyceraldehyde-3-phosphate — 1,3-bis phosphoglyceric acid
B. Fructose-6-phosphate — Fructose-1,6-bisphosphate

C. Glucose — Glucose-6-phosphate

D. 3-Phosphoglyceric Acid — 2-Phosphoglycerate

E. Phosphoenol pyruvate — Pyruvic Acid

Choose the correct answer from the options given below

1.C,EADB
2, DAER
3.CBADE
4. CABDE
Options :

85133015581. 1
85133015582. 2
85133015583.3
85133015584. 4

Question Number : 146 Question Id : 8513303899 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015581. 1
85133015582.2
85133015583.3
85133015584. 4

Question Number : 147 Question Id : 8513303900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A drop of each of the following is placed separately on four slides. Which one of them will
NOT coagulate?
1. Whole blood from pulmonary vein

!

2. Blood plasma

3. Blood serum

4. Sample from the thoracic duct of the lymphatic system
Options :

85133015585. 1

85133015586. 2

85133015587. 3

85133015588. 4

Question Number : 147 Question Id : 8513303900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015585. 1
85133015586. 2
85133015587. 3
85133015588. 4

Question Number : 148 Question Id : 8513303901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Genetic diversity

A. helps in the formation of polymorph

B. helps in speciation

C. is diversity of habitat

D. is diversity due to replacement of species within the habitat
E. is useful in adaptation to changes in environment

Choose the correct answer from the options given below

1. A B and E only
2. B, C and D only
3.C, D and E only
4. A B and D only
Options :
85133015589. 1
85133015590. 2
85133015591. 3
85133015592. 4

Question Number : 148 Question Id : 8513303901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015589. 1
85133015590. 2
85133015591. 3
85133015592. 4

Question Number : 149 Question Id : 8513303902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following family types, does the ovary have lobes and the style emerges from

the depressions of the ovary lobes?
1. Brassicaceae

2. Apocynaceae

3. Asteraceae

4. Lamiaceae

Options :

85133015593. 1

85133015594.2

85133015595. 3

85133015596. 4

Question Number : 149 Question Id : 8513303902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
151/153

Page - 151


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

' GETITON
. '\ Google Play
9/17/2020

o o 4 foud susrr AR wra e R & - ¥ fos i gidr @ -

1. Syl

2. TUEESE!
3. TEud

4, o)
Options :
85133015593. 1
85133015594. 2
85133015595. 3
85133015596. 4

Question Number : 150 Question Id : 8513303903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l

List | List Ii
A. Acrosome l. Gonadotropin
B. Corpus luteum Il. Hyaluronidase
C. Leydig cells lll. Estrogen
D. Hypothalamus V. Testosterone

Choose the correct answer from the opticons given below:

1. A-(lI), B-(I1), C-(1), D-(IV)
2. A-(I1), B-{1IN), C-(IV), D-(1)
3. A-(llny, B-(I), C-(1v), D-(1)
4, A-(Il1), B-(11), C-(1), D-(IV)
Options :

85133015597. 1
85133015598. 2
85133015599. 3

85133015600. 4

Question Number : 150 Question Id : 8513303903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015597. 1
85133015598. 2
85133015599. 3
85133015600. 4
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